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Chapter 1

OneStepNSProblem formalisation for
several interactions

author | F Pérignon
date May 16, 2006
version | ?

1.1 LinearDS - Linear Time Invariant Relations

1.1.1 General notations

We consider n dynamical systems of the form:

X = Aixi +R; (1.1)

n
Each system if of dimension 7;, and we denote N = ) n;.
i=1
An interaction, I, is composed with a non smooth law, nslaw, and a relation:
Yo = Ca X + DuAa (1.2)

The “dimension” of the interaction, ie the size of vector y4, is denoted m, and we set:

m
M = Z My
a=1

m being the number of interactions in the Non Smooth Dynamical System.

Xy is a vector that represents the DS concerned by the interaction. Its dimension is noted Ny, this for 74
systems in the interaction.

Cq is a my X Ny row-blocks matrix and Dy a miy X m, square matrix.

Ca=|[Ci Ch | (1.3)

with i, j, ... € DS which is the set of DS belonging to interaction a.

We also have the following relation:
R, By
R(]x = BaAx = Béc A (1-4)
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R!, represents the contribution of interaction « on the reaction of the dynamical system i, and B, is a
n; X my block matrix.
And so: ‘ '
Ri=Y Rp=Y Bhs (1.5)
BEL; BEZ;
with Z; the set of interactions in which dynamical system number i is involved.
Introducing the time discretization, we get:

Aok = Ak 4 R (1.6)
AT = CoXET 4 DaAl™ (1.7)
k+1 __ i 2 k+1
REFL = Y BRAKT (1.8)
BEL;
ie, with W; = (I — hA;) ™%
= Wik RE (1.9)
yETl = CaWaXE + CaliWy Y BgA’/;“ + DAk (1.10)
BEZL;
= CaWaXh + (CahWaBoa +D)AS + Y (Y hCEWiBRALH) (1.11)
B#a i€DS,NEDSp
with
W, 0 ..
Woa=| 0 W .. (1.12)
0

the block-diagonal matrix of all the W for the dynamical systems involved in interaction «.
The global-assembled Y vector, of dimension M, composed by m vy, subvectors, is given by:

Yi+1 = gosnsp + MosnspAk+1 (1.13)
or,
_ W1 0 N 0 X1
i cl ... ,
. 0o W
Yig1 = - = R ) 2
Ym i1 ch ... cn

- 0o W, Xn |y
[Di+h Y CwB, h Y C]W;B]

j€DSq j€DS1NDS;
+ : .
J .l Jw.nBl
h'Y CwWWiB,_, Du+h Y CW;Bj,
L j€DSm j€DSHNDS,;,—1

To sum it up, the block-diagonal term of matrix Mosnsp, for block-row « is:

Da+h Y CLW;BL (1.15)
j€EDSH

This is an m, X my square matrix. The extra-diagonal block term, in position («, 3) is:

no Y clwB, (1.16)
jEDSLNDS

file DevNotes.tex - 2018-03-14 11:18

{Walpha}

M

Am

(1.14)

k+1



Siconos Development team - Notes 6/98

and is a my x mg matrix. This matrix differs from 0 when interactions « and 3 are coupled, ie have
common DS.

Or, for the relation 1 of interaction «, we get:

Doy +h Y CL wBj 1.17)
j€eDSa
for the diagonal, and ' '
hoo Y ClwB (1.18)
jEDS«NDS

for extra-diagonal terms.
D, ;, row number [ of Dy, the same for C,

Finally, the linked-Interaction map provides, for each interaction (named “current interaction”), the
list of all the interactions (named “linked interaction”) that have common dynamical system with the
“current interaction”.

1.1.2 A simple example

We consider n = 3 dynamical systems and m = 2 interactions:

I'u — DSu:{Dsl,D53},m#:3
Ip — DSQZ{DS2,DS3},TH9:1

The linked-interaction map is :

1

Ig, commonDS = DS3

Ip I, commonDS = DS3

4

And:

3
M = 4, N-= Zi’li
i=1

.y = {Iu}
I, = {l}
IB = {I;u 19}
X
n=[a & [ “ } +DiA; (1.19)
X
=[0G G ] [ x§ } + DAy (1.20)
R BiA
1 1M
Ry, | = B3, (1.21)
R3 B3 +B3A,
Dy + hC{ W1 B} + hC3W; B3 hC3W;B3 M
= 1.22
Mosnsp hC3W3B3 D, +hC3W,B3 + hC3W3B3 | | A2 [y (1.2)

file DevNotes.tex - 2018-03-14 11:18



Siconos Development team - Notes

7/98

1.1.3 relative degree

Let us consider the global vector

=CX+DA

n
Y =
Ym

We denote by r; the relative degree of equation j, j € [1..M]. We have:
no m
yi= YL Cxi+DjjAi+ Y Djik
i=1 i£ji=1

D;,; a scalar and Ci a1 x n; line-vector.
If D ij # 0, thenr j=0. Else, we should consider the first derivative of y i
Before that, recall that:

Through many of the Bj- are equal to zero, we keep them all in the following lines.

Then:

noo M
yi = Y CilAxi+ Y Bid) + f(Aksj
i=1 k=1

noo . Mo
= Y Ci(Axi+BiAj+ Y Bid)+...
i=1 k=1k#j

(1.23)

(1.24)

(1.25)

(1.26)

(1.27)

n . .
So, if Z C}B} # 0 (note that this corresponds to the product between line j of C and column j of B)
i=1

then r = 1 else we consider the next derivative, and so on.
In derivative r, the coefficient of A j will be:

n . .
coeff; = ZC}-(Ai)r_lB}
i=1

if coeff; # O thenr; =r.

1.2 LagrangianDS - Lagrangian Linear Relations

1.2.1 General notations
We consider n dynamical systems, lagrangian and non linear, of the form:

M;(q:)gi + Ni(4i, i) = Fint,i(Gi,qist) + Fexei(t) + pi

n
Each system if of dimension 7;, and we denote N = Z n;.
i=1
An interaction, I, is composed with a non smooth law, nslaw, and a relation:

Ya = «Qu + by

(1.28)

(1.29)

(1.30)
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The “dimension” of the interaction, ie the size of vector y4, is denoted m, and we set:

m being the number of interactions in the Non Smooth Dynamical System.

Qu is a vector that represents the DS concerned by the interaction. Its dimension is noted N, this for 114
systems in the interaction.

H, is a my X N, row-blocks matrix and b, a m, vector.

Ho=| H, Hj .| (1.31)

with i, j, ... € DS which is the set of DS belonging to interaction a.
We also have the following relation:

RL, 'HY,
R, | ='Hada= | 'H, | Ax (1.32)

R!, represents the contribution of interaction & on the reaction of the dynamical system i, and tH, is a
n; X mgy block matrix.
And so: , .
Ri=) Rp=Y HpAg (1.33)
BEZ; BEZ;
with Z; the set of interactions in which dynamical system number i is involved.
Introducing the time dicretisation, we get:

G = G ryee + WiRET

i = Ha O (1.34)
RN =Y Hpagt! (1.35)
BET;
ie,
ViU = HL QU+ HWl'Hda+ Y Y HLW;H A (1.36)

i€DSy BeT;atp

with Wy given by (1.12).
The global-assembled Y vector, of dimension M, composed by m vy, subvectors, is given by:

Yir1 = qosnsp + MosnspAk+1 (1.37)
with:
qOsNsp = Ha QL (1.38)
and for Mpgsnsp, the block-diagonal term for block-row « is

Y HLW{'H] (1.39)
j€DS,

an my X my square matrix. The extra-diagonal block term, in position («, ) is:

H W/ H], (1.40)
JEDSNDS

file DevNotes.tex - 2018-03-14 11:18
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and is a my x mg matrix. This matrix differs from 0 when interactions « and 3 are coupled, ie have
common DS.

Or, for the relation 1 of interaction «, we get:

Y H ,WjH, (1.41)
j€DSy
for the diagonal, and
I wtyl
H) Wi'H], (1.42)
JEDSLNDS,

for extra-diagonal terms.
H, ;, row number [ of Hy.

WARNING: depending on linear and non linear case for the DS, there should be a factor h ahead W.
See Bouncing Ball template.

1.3 Block matrix approach

The built of the OSNSProblem matrix could be computed using block matrix structure. This section
describe these matrices. It is not implemented in Siconos. Using previous notations, # is the number of
DS. m the number of interations.

1.3.1 Block matrix of DS
MX =AX+R
where M = diag(M;,...M,) and A = diag(A1, .., An).

R = BA
Bi..B},
B )
BI..BI,
Some of Bj- doesn’t exist.
1.3.2 Block matrix of interaction
Y=CX+DA
with D = diag(D;..D;,) and
cl.cy
C— .
C,L.:.c;;

Some of C;- doesn’t exist.

1.3.3 OSNSProblem using block matrices
The Matrix of the OSNS Problem could be assembled using the following block-product-matrices CWB.

file DevNotes.tex - 2018-03-14 11:18



Chapter 2

Dynamical Systems formulations in
Siconos.

author | F Pérignon
date March 22, 2006
version | Kernel 1.1.4

2.1 Class Diagram

There are four possible formulation for dynamical systems in Siconos, two for first order systems and
two for second order Lagrangian systems. The main class is DynamicalSystem, all other derived from
this one, as shown in the following diagram:

{DSDiagram}

2.2 General non linear first order dynamical systems
— class DynamicalSystem

This is the top class for dynamical systems. All other systems classes derived from this one.

10
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A general dynamical systems is described by the following set of n equations, completed with initial
conditions:

x = f(x,t)+T(x)u(x, x,t)+r (2.1)
x(to) = xo (2.2)

x: state of the system - Vector of size .

f(x,t): vector field - Vector of size n.

u(x, x, t): control term - Vector of size uSize.

T(x): n x uSize matrix, related to control term.

r: input due to non-smooth behavior - Vector of size 7.
The Jacobian matrix, Vxf(x,t), of f according to x, n X n square matrix, is also a member of the class.

Initial conditions are given by the member x(, vector of size n. This corresponds to x value when
simulation is starting, ie after a call to strategy->initialize().

There are plug-in functions in this class for f (vectorField), jacobianX, u and T. All of them can
handle a vector of user-defined parameters.

2.3 First order linear dynamical systems — class LinearDS

Derived from DynamicalSystem, described by the set of n equations and initial conditions:
¥ = A(t)x(t) + Tu(t) +b(t) +r (2.3)
x(to) = x (2.4)
With:
e A(t): n x n matrix, state independent but possibly time-dependent.
e b(t): Vector of size n, possibly time-dependent.

Other variables are those of DynamicalSystem class.
A and B have corresponding plug-in functions.

Warning: time dependence for A and b is not available at the time in the simulation part for this kind
of dynamical systems.

Links with vectorField and its Jacobian are:

flx,t) = A(t)x(t) + b(t) (2.5)
jacobianX = V.f(x,t) = A(t) (2.6)

2.4 Second order non linear Lagrangian dynamical systems
— class LagrangianDS

Lagrangian second order non linear systems are described by the following set ofnDof equations +
initial conditions:

M(q)§+ NNL(4,q) + Frut(4,9,t) = Feu(t)+p (27)
q(to)) = 40 (2.8)
q(to) = welocity0 (2.9)

With:

file DevNotes.tex - 2018-03-14 11:18
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M(q): nDof x nDof matrix of inertia.

q: state of the system - Vector of size nDof.

e g or velocity: derivative of the state according to time - Vector of size nDof.

NNL(g,q): non linear terms, time-independent - Vector of size nDof.

Frut (4,9, t): time-dependent linear terms - Vector of size nDof.

Fey(t): external forces, time-dependent BUT do not depend on state - Vector of size nDof.

p: input due to non-smooth behavior - Vector of size nDof.
The following Jacobian are also member of this class:

e jacobianQFInt = V;F(t,q,4) - nDof x nDof matrix.

e jacobianVelocityFInt = V;F,(t,q,q) - nDof x nDof matrix.
e jacobianQNNL = V;NNL(q, ) - nDof x nDof matrix.

e jacobianVelocityNNL = V;NNL(q,q) - nDof x nDof matrix.

There are plug-in functions in this class for Fj,;;, Fr.t, M, NNL and the four Jacobian matrices. All of
them can handle a vector of user-defined parameters.

Links with first order dynamical system are:

n = 2nDof (2.10)
_ |4
x = : 2.11
L 4 @11)
_ q
flx,t) = | M~ (Fput — Fine — NNL) (2.12)
(2.13)
_ [ OnDofanof nDofanof
fo(x,t) o I Vq(M_l)(FExt_Flnt_NNL)_M_lvq(Flnt+NNL) -M- 1vq Flnt+NNL
po— | Ondos } (2.15)
L P
u(x,x,t) = up(4,q,t) (not yet implemented) (2.16)
T(x) = _ gjﬁ% } (not yet implemented) (2.17)
(2.18)

With 0,, a vector of zero of size 1, O, %, @ 1 X m zero matrix and Iy, identity n x n matrix.

Warning: control terms (Tu) are not fully implemented in Lagrangian systems. This will be part of
future version.

2.5 Second orderlinear and time-invariant Lagrangian dynamical sys-
tems — class LagrangianLinearTIDS

{Sec:LagrangianL
Mij+Cq+Kg = Feu(t)+p (2.19)
With:

file DevNotes.tex - 2018-03-14 11:18
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e C: constant viscosity nDof x nDof matrix
o K: constant rigidity nDof x nDof matrix

And:

Fie = Cj+Kg (2.20)
NNL = O,pf (2.21)

file DevNotes.tex - 2018-03-14 11:18



Chapter 3

Dynamical Systems implementation in
Siconos.

author | F Pérignon
date November 7, 2006
version | Kernel 1.3.0

3.1 Introduction

This document is only a sequel of notes and remarks on the way Dynamical Systems are implemented
in Siconos.

It has to be completed, reviewed, reorganized etc etc for a future Developpers’Guide.

See also documentation in Doc/User/DynamicalSystemsInSiconos for a description of various dynam-
ical systems types.

3.2 Class Diagram

There are four possible formulation for dynamical systems in Siconos, two for first order systems and
two for second order Lagrangian systems. The main class is DynamicalSystem, all other derived from
this one, as shown in the following diagram:

14

{DSDiagram}
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3.3 Construction

Each constructor must:
e initialize all the members of the class and of the top-class if it exists
e allocate memory and set value for all required inputs
e allocate memory and set value for optional input if they are given as argument (in xml for example)

o check that given data are coherent and that the system is complete (for example, in the LagrangianDS
if the internal forces are given as a plug-in, their Jacobian are also required. If they are not given,
this leads to an exception).

No memory allocation is made for unused members = requires if statements in simulation. (if'=NULL

).

3.3.1 DynamicalSystem

Required data:

n, x0, {, jacobianXF
Optional:

Tu

Always allocated in constructor:
x, X0, xFree, 1, ths, jacobianXF

Warning: default constructor is always private or protected and apart from the others and previous
rules or remarks do not always apply to it. This for DS class and any of the derived ones.

3.3.2 LagrangianDS

Required data:

ndof, g0, velocity0, mass

Optional:

fInt and its Jacobian, fExt, NNL and its Jacobian.

Always allocated in constructor:

mass, g, q0, gFree, velocity, velocity0, velocityFree, p.

All other pointers to vectors/matrices are set to NULL by default.

Memory vectors are required but allocated during call to initMemory function.
Various rules:

e fInt (NNL) given as a plug-in = check that JacobianQ/Velocity are present (matrices or plug-in)

e any of the four Jacobian present = allocate memory for block-matrix jacobianX (connectToDS
function)

check: end of constructor or in initialize?
computeF and JacobianF + corresponding set functions: virtual or not?

file DevNotes.tex - 2018-03-14 11:18
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3.4 Specific flags or members

e isAllocatedIn: to check inside-class memory allocation
e isPlugin: to check if operators are computed with plug-in or just directly set as a matrix or vector

e workMatrix: used to save some specific matrices in order to avoid recomputation if possible (in-
verse of mass ...)

3.5 plug-in management

DynamicalSystem class has a member named parameterList which is a map < string, SimpleVectors >,
ie a list of pointers to SimpleVector*, with a string as a key to identified them. For example, parametersList|[”mass”]
is a SimpleVector*, which corresponds to the last argument given in mass plug-in function.

By default, each parameters vectors must be initialized with a SimpleVector of size 1, as soon as the
plug-in is declared. Moreover, to each vector corresponds a flag in isAllocatedIn map, to check if the
corresponding vector has been allocated inside the class or not.

For example, in DynamicalSystem, if isPlugin[”vectorField”] == true, then, during call to constructor
or set function, it is necessary to defined the corresponding parameter:

parametersList["vectorField”] = newSimpleVector(1)

and to complete the isAllocatedIn flag:

isAllocatedIn|” parameter roryectorField”| = true.

file DevNotes.tex - 2018-03-14 11:18



Chapter 4

Interactions

author | F. Pérignon
date November 7, 2006
version | Kernel 1.3.0

4.1 Introduction
This document is only a sequel of notes and remarks on the way Interactions are implemented in
Siconos.

It has to be completed, reviewed, reorganized etc etc for a future Developpers’Guide.
See also documentation in Doc/User/Interaction.

4.2 Class Diagram

4.3 Description

4.3.1 Redaction note F. PERIGNON
review of interactions (for EventDriven implementation) 17th May 2006.

e variable nInter renamed in interactionSize: represents the size of y and A. NOT the number of rela-
tions !

e add a variable nsLawSize that depends on the non-smooth law type.
Examples:

NewtonImpact -> nsLawSize = 1
Friction 2D -> nsLawSize = 2
Friction 3D -> nsLawSize = 3

nsLawSize = n with n dim of matrix D in : ¥y = Cx + DA, D supposed to be a full-ranked
matrix.
Warning: this case is represented by only one relation of size n.

interactionSize

o numberOfRelations: number of relations in the interaction, numberOfRelations = -
nsLawSize
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Chapter 5

Notes on the Non Smooth Dynamical
System construction

author | F. Pérignon

date November 7, 2006

version | Kernel 1.3.0

5.1
5.2
5.3

Introduction
Class Diagram

Description

Objects must be constructed in the following order:

5.4

DynamicalSystems
NonSmoothLaw: depends on nothing
Relation: no link with an interaction during construction, this will be done during initialization.

Interaction: default constructor is private and copy is forbidden. Two constructors: xml and from
data. Required data are a DSSet, a NonSmoothLaw and a Relation (+ dim of the Interaction and a
number).

Interaction has an initialize function which allocates memory for y and lambda, links correctly the
relation and initializes it .... This function is called at the end of the constructor. That may be better
to call it in simulation->initialize? Pb: xml constructor needs memory allocation for y and lambda
if they are provided in the input xml file.

NonSmoothDynamicalSystem: default is private, copy fobidden. Two constructors: xml and from
data. Required data are the DSSet and the InteractionsSet. The topology is declared and con-
structed (but empty) during constructor call of the nsds, but initialize in the Simulation, this be-
cause it can not be initialize until the nsds has been fully described (ie this to allow user to add DS,
Inter ...) at any time in the model, but before simulation initialization).

misc

no need to keep a number for Interactions? Only used in xml for OS], to know which Interactions
it holds.

18
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e pb: the number of saved derivatives for y and lambda in Interactions is set to 2. This must depends
on the relative degree which is computes during Simulation initialize and thus too late. It is so not
available when memory is allocated (Interaction construction). Problem-> to be reviewed.
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Chapter 6

OneSteplIntegrator and derived classes.

author | F. Pérignon
date November 7, 2006
version | Kernel 1.3.0

6.1 Introduction

This document is only a sequel of notes and remarks on the way OneStepIntegrators are implemented
in Siconos.

It has to be completed, reviewed, reorganized etc etc for a future Developpers’Guide.

See also documentation in Doc/User/OneSteplntegrator for a description of various OSL

6.2 Class Diagram
6.3 Misc

OSl review for consistency between Lsodar and Moreau:
e add set of DynamicalSystem*

add set of Interaction*

add link to strategy that owns the OSI

remove td object in OSI -> future: replace it by a set of td (one per ds)
e add strat in constructors arg list

osi -> strat -> Model -> nsds -> topology
osi -> strat -> timeDiscretisation

let a timeDiscretisation object in the OSI? set of td (one per ds)?
create a class of object that corresponds to DS on the simulation side ?
will contain the DS, its discretization, theta for Moreau ... ?
Allow setStrategyPtr operation? Warning: need reinitialisation.

Required input by user:
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e list of DS or list of Interactions ?
e pointer to strategy

6.4 Construction

Each constructor must:

6.4.1 Moreau

Two maps: one for W, and one for theta. To each DS corresponds a theta and a W.
Strategy arg in each constructor.

Required data:

Optional:

Always allocated in constructor:

Warning: default constructor is always private or protected and apart from the others and previous
rules or remarks do not always apply to it.

6.4.2 Lsodar
Required data:
Optional:

Always allocated in constructor:
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Chapter 7

First Order Nonlinear Relation

author | 0. Bonnefon

date July, 12009

version | Kernel 3.0.0
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Chapter 8

Computation of the number of Index
Set and various levels

author | V. Acary
date Septembre 16, 2011
version | Kernel 3.3.0

In this chapter, we give some hints on the automatic computation of the number of index sets, the
number of derivatives in the Interaction and the levelMin and LevelMax.

8.1 Why is the relative degree not relevant ?
In this section, we give a very brief overview of the notion of relative degree.

8.1.1 First order Linear complementary systems

A Linear Complementarity System (LCS) is defined by

* = Ax+ BA
y=Cx+DA (8.1)
0<yLlA>0

Definition 1 (Relative degree in the SISO case) Let us consider a linear system in state representation given
by the quadruplet (A, B,C,D) € R x R™™ x R™" x R™*"™:

{x:Ax+BA €2)

y=Cx+ DA

e In the Single Input/ Single Output (SISO) case (m = 1), the relative degree is defined by the first non zero
Markov parameters :
D,CB,CAB,CA?B,...,CA™ 1B, ... (8.3)

o In the multiple input/multiple output (MIMO) case (m > 1), an uniform relative degree is defined as
follows. If D is non singular, the relative degree is equal to 0. Otherwise, it is assumed to be the first positive
integer v such that

CAB=0, i=0...q-2 (8.4)

while
CA"™'B s non singular. (8.5)
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The Markov parameters arise naturally when we derive with respect to time the output y,

y = Cx+DA
y = CAx+CBA ifD=0
j = CA?x+CABA,ifD=0,CB=0
y") = CA'X+CA™'BA, ifD=0,CB=0,CA™2B=0,r=1...7-2

and the first non zero Markov parameter allows us to define the output y directly in terms of the input
A.

In continuous time, the nature of solutions depends strongly on the relative degree. When we want
to perform the time-integration of such systems, we need also to reduce the relative degree or to known
it to correctly operate.

We can observe that the relative degree 0 is well defined only by the relation (D nonsingular) and by
the nonsmooth law. Indeed, let us imagine that the nonsmooth law is defined by 0 <y L A > 0. We
can easily see that the relative degree is reduced.

In the MIMO, the computation of non uniform relative degree is hard task. This is also the case for
nonlinear systems.

8.1.2 Second order Lagrangian systems

Let us consider a second order linear and time-invariant Lagrangian dynamical system (see § 2.5)

; Kg=F
{MU+CU+ g = Feu(t) +p 36)
q=70
together with a Lagrangian linear relation
y=Cqg+e+ DA+ Fz, (8.7)
p=C'A (8.8)
and a simple nonsmooth law,
0<ylA>0 (8.9)

If D > 0, the relative degree is uniformly zero and the system can be solved without deriving the
output (8.7). Indeed, we known that the solution of the LCP

0<Cq+et+DA+Fz, LA>0 (8.10)
is unique and Lipschitz with respect to g. It can be denoted as A(q) = SOL(D, Cq + e + Fz). Therefore,
the differential equation (8.6) reduces to a standard ODE with a Lipschitz RHS

(8.11)

{Mz’; + Co+ Kq = Fry () + C'A(q)
=0

In the case that we deal with unilateral contact, we usually have D = 0 and the relative degree of the
system is 2. In this case, the output has to be differentiated as

y=0q, (8.12)
and an impact law has to added, for instance the newton’s impact law

if y =0, when y" = —ey™ (8.13)
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In the same vein, the equations of motion (8.6) is not sufficient since the velocity may encounter jumps.
The dynamics is usually replaced by a measure differential equation of the form

Mdo + Co™ (t)dt + Kq(t)dt = Fpy(t)dt + di (8.14)
j=v '
where di is the measure that can be related to p thanks to
di = pdt + 064 (8.15)

is only one jump is expected at t*.

8.1.3 Conclusion for the implementation

From the continuous time mathematical analysis, the relative degree is very important to know if we

have to compute the derivatives of the output y(”) and to consider various levels for the input p, o, ....
However in the numerical practice, the time —discretization makes an assumption on the relative
degree and treats the nonsmooth law at different levels. The resulting time discretized system posseses
more or less variables.
Consider for instance (8.6) in the case of the Moreau scheme

M(vg 41 — vx) + h(Kqrpo + Corig) = Prg1 = G(k11) Akt (8.16a)
Gk+1 = Gk + hogso, (8.16b)
ki1 = G (Gks1) Ok (8.16¢)

if gy <O0then0 <y, +eyp LAF, >0,

el 8.16d
otherwise Ai, ; = 0. * ( )

and the Schatzman-Paoli scheme

M (k41 — 2Gxk + Gk—1) + B (Kqiro + Ctkro) = Prs1, (8.17a)
_ k+1 — Gk-1
Vg1 = T (8.17b)
_ o Tk T eqk1
Yk =h ( The > (8.17¢c)
+eqx_
prot = G () (3.17d)
0 < Yk+1 L A1 = 0. (8.17¢)

We can see easily that the number of derivatives (or levels) that we store for ¥ and A is independent
on the relative degree but is chosen by the OneStepIntegrator with respect to the type of systems.

8.2 How to define and compute the various levels and the number of
indexSets

8.2.1 y related variables
The size of the vector y in the Interaction depends on
e the OneStepIntegrator type.

— see the difference between the Moreau and Schatzman Paoli scheme,
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- plan the time-discontinuous Galerkin scheme

- plan the Higher Order Moreau sweeping process (HOSP)
e the Simulation type.

— In Timestepping or Event-driven we do not need the same number of stored y
e the NonSmoothLaw type.

— If we consider some cases with or without friction in Timestepping or Event-driven, we
need to adapt the number of stored y

Since the various levels of y are used to build the index sets we will need from 0 to a computed size
that depends on the previous criteria. Only a part will be used in the OneStepNSProblem.

8.2.2 A related variables

The size of the vector lambda in the Interaction depends on the same criteria than in the previous
section. Only, the number of lambda is not the same as y since a multiplier lambda[i] is not necessarily
related to y [i]

8.3 Rules for implementation

We can define new members in Interaction:
e _lowerlevelForQutput, this value is to 0 by default

e _upperlevelForOutput, this value must be computed at initialization with respect to the previous
criteria

e _lowerlevelForInput, this value must be computed at initialization with respect to the previous
criteria

e _upperlevelForInput, this value must be computed at initialization with respect to the previous
criteria

This level are computed in Simulation: : ComputeLevelsForInputAndOutput. A visitor is used for
the OneStepIntegrator. Furthermore, four global levels are computed

o _levelMinForOutput this value is the minimum level for the output Interaction: : _lowerlevelForQutput
for all the interactions

e _levelMaxForOutput this value is the maximum level for the output Interaction: : _upperlevelForOutput
for all the interactions

e _levelMinForInput this value is the minimum level for the output Interaction: : _lowerlevelForInput
for all the interactions

e _levelMaxForInput this value is the maximum level for the output Interaction: : _upperlevelForInput
for all the interactions

o the values y[i] must be initialized from _lowerlevelForOutput to _upperlevelForQutput.
o the values lamdba[i] must be initialized from _lowerlevelForInput to _upperlevelForInput.

e the values y[i] in Interaction must be used in priority to store the i-th derivative of y. When
it is needed, higher index i can be used for other triggering variables. For instance, for an Event—
Driven scheme with a Lagrangian systems with friction, sliding velocity must be stored.
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e the values of lamdba[i] must stored the various multiplier for the nonsmooth law. We affect the
same index i as for the level of y [i] present in the corresponding nonsmooth law.

e The number of IndexSets should follows _levelMaxForY.

For the dynamical systems :

e The number of levels for _r and _p in the DS should follow _lowerlevelForInput and _upperlevelForQOutput
of the associated interactions. This is done in Interaction: :initialize.

e A new variable should be added in the LagrangianDS to store the multiplier at the position level
(_tau ?) to avoid the use of _p[0]. Indeed, we will continue to assume that _p is the input in the
equation of motion. For 1ambda we can use lambda[0]

TODO LIST AND QUESTIONS

e What about the case of multiples interactions on a DS with various _lowerlevelForInput and
_upperlevelForOutput ? Normally, all the levels should be correctly initialized thanks to the
proposed implementation (r2821)

e DynamicalSystem: : _r should be a VectorOfVectors

e DynamicalSystem: : _r is split in LagrangianDS. a first part is LagrangianDS: : _p. The other is not
implemented !! LagrangianDS: : _tau ?
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Chapter 9

Newton’s linearization for First Order
Systems

author O.Bonnefon, V. Acary
date Sept, 07, 2007
last update | Feb, 2011
April, 2014
version

This section is devoted to the implementation and the study of the algorithm. The interval of inte-
grationis [0, T], T > 0,and agrid tg = 0, t;,1 = tx +h,k > 0, ty = T is constructed. The approximation
of a function f(-) on [0, T] is denoted as fN(-), and is a piecewise constant function, constant on the
intervals [t, t,1). We denote fN(t;) as fi. The time-step is it > 0.

9.1 Various first order dynamical systems with input/output relations

FirstOrderR. Fully nonlinear case Let us introduce the following system,

Mx(t) = f(x(t),t) +r(t)
y(t) = h(t, x(t),A()) (9.1)
r(t) = g(t, x(t), A(t))

where A(t) € R™ and y(t) € R™ are complementary variables related through a multi-valued map-
ping. According to the class of systems, we are studying, the function f and g are defined by a fully
nonlinear framework or by affine functions. We have decided to present the time-discretization in its
full generality and specialize the algorithms for each cases in Section ??. This fully nonlinear case is not
implemented in Siconos yet. This fully general case is not yet implemented in Siconos.

This case is implemented in Siconos with the relation FirstOrderR using the subtype NonLinearR

FirstOrderTypelR Let us introduce a new notation,

Mx(t) = F(x(t), 1) +r(t)
y(t) = h(t, x(t)) 9.2)
r(t) = g(t, A(t))

This case is implemented in Siconos with the relation FirstOrderType1R.
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FirstOrderType2R Let us introduce a new notation,

t),A(t)) (9.3) {first-DS2}

~
~—
~—

This case is implemented in Siconos with the relation FirstOrderType2R.

Linear case Let us introduce a new notation,

Mik(t) = Ax(t) +7(t) + b(t)
y(#) = h(x(£), A(t), ) Cx+Fz+ DA (9.4) {first-Ds3}
r(t) = g(tA(t)) =

9.2 Time-discretizations

9.2.1 Standard 6 — y scheme.

Let us now proceed with the time discretization of (9.4) by a fully implicit scheme :

Mxp 1 = Mxy + hOf (xpq1, tqr) +h(1—0) f(xg, b)) + hyr(tegr) + (1 —y)r(t)

k1 = M(trs1, X1, Ak
Yk+1 (tks 1, Xier 1, Akrn) (95) {eq:totot}
"er1 = &bkt X1, Aks1)

NsLaw (yx11, Axr1)

where 0 = [0,1] and y € [0,1]. Asin [? ], we call the problem (9.5) the “one-step nonsmooth problem”.

In the Siconos/Kernel module, the use of y is activated in the class EulerMoreau0SI by the boolean
_useGamma.

This time-discretization is slightly more general than a standard implicit Euler scheme. The main
discrepancy lies in the choice of a 6-method to integrate the nonlinear term. For 8 = 0, we retrieve the
explicit integration of the smooth and single valued term f. Moreover for y = 0, the term g is explicitly
evaluated. The flexibility in the choice of 8 and y allows the user to improve and control the accuracy,
the stability and the numerical damping of the proposed method. For instance, if the smooth dynamics
given by f is stiff, or if we have to use big step sizes for practical reasons, the choice of 8 > 1/2 offers
better stability with the respect to h.

9.2.2 Full 6 — y scheme

Another possible time-discretization is as follows.

M1 = M + hOf (X1, tiyr) + 1(1 = 0) f (xk, te) + hr(tery)
= h(tisr, Xkt Ak
ety (tys Ty Aety) (9.6) {eq:totol-ter}
ety = 8(tktys Xktyr Akgy)
NsLaw (Y-t Ak+y)
We call the scheme (9.6) the full @ — y scheme since it uses also the evaluation at ¢ ,, for the relation.

In the Siconos/Kernel module, the time—stepping scheme is activated in the class EulerMoreau0SI
by the boolean _useGammaForRelation.
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Another possibility for the time discretization in the nonlinear case would be

M1 = Mxy + hf (Xito, tevo) + hr(tiry)

= h t 7 X 7 A
Yiry ( k+yr k+y k+7’) (9.7) {eq:totol-quat}
T’k+7/ == g(tk+y/ xk+)/r Ak+7)

NSLaW(]/k-H// /\k-H/)

This scheme has not been yet implemented in Siconos/Kernel.
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9.3 Newton’s linearization of (9.5)

Due to the fact that two of the studied classes of systems that are studied in this paper are affine functions
in terms of f and g, we propose to solve the "one-step nonsmooth problem” (9.5) by performing an
external Newton linearization.

Newton’s linearization of the first line of (9.5) The first line of the problem (9.5) can be written under
the form of a residue R depending only on x},1 and 74,1 such that

R(xki1,7%41) =0 (9.8) {eq:NL3}
with
R(x,r) = M(x —xi) —hOf(x, tgp1) —h(1 —0)f(xg, ty) — hyr — h(1 — y)ry. (9.9)
The solution of this system of nonlinear equations is sought as a limit of the sequence {x¢, 1, 7%, 1}, N
such that
X2+1 = Xf
71(<)+1 =Tk

RL(x?illfr?Ll) = R(x1, 1541) + [VAR (1, 1841 (xlﬁll = xi1) + VIR, 18] (rlﬁll (_971%31) =0
. {eq:NL7}

9.3.1 Redaction note V. ACARY
What about r2+1 e

The residu freeR e is also defined (useful for implementation only):

Rree(x) 2 M(x — x¢) — hOf (x, ty1) — h(1 — 0) f (xi, 1),

which yields
R(x,1) = Reree(x) — hyr —h(1 —y)rg.
A
R(x]ic+1,1’?+1) = 'R?Jrl = Rfree(x;f+l) - h’)/r?Jrl —h(1 —7y)rg (9.11) {eq:rfree-1}
A
Rfree(xl?+1frlcct+l) = ;’Xree,k—%l - M(xl‘érl - xk) - hef(xlic+1’ tk-‘rl) - h(l - e)f(xk/ tk)

At each time—step, we have to solve the following linearized problem,

RI(:+1 + (M - hQAIiCJrl)(x?:f - xl?Jrl) - hY(T’?Ill - r;:+1) =0, (9.12) {eq:NL10}
with
Afy1 = Vaf (te, X54q) (9.13)
By using (9.11), we get
Reree (XF1,T701) — h)/r,‘z‘jrrll —h(1 —y)re+ (M — hGA?H)(xl‘z‘ill —xfq) =0 (9.14) {eq:rfree-2}

The matrix W is clearly non singular for small /.
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Newton’s linearization of the second line of (9.5) The same operation is performed with the second
equation of (9.5)
Ry(x,y,A) =y —h(tep1,x,A) =0

(9.15)
which is linearized as
RLy(xli‘illfy?Ll'A?ill) = Ry(xfi1 Yes1, M) + (ylﬁll ~ Yir1)— 9.16)
1 1 :
C?H(xﬁl = Xy1) — DI?H(A?L — A1) =0
This leads to the following linear equation
]/Iicill = Yir1 — R;kﬂ + C,‘fﬂ(x?ill — Xgp1) + D,‘?‘H()\]‘fjll — A1) | (9.17)
with,
Ciyr = Vah(tiy, X1 A1)
(9.18)
Ditrq = Vah(tera, X1, Agya)
and
A
Riki1 = Yegr — h(xgiq, AG) (9.19)

Newton’s linearization of the third line of (9.5) The same operation is performed with the third equa-
tion of (9.5)

Re(r,x,A) =1 —g(tet1,%,A) =0 (9.20)

which is linearized as

a+1l a+l ya+ly _ pa a+1 o o a+1 o o a+1 o4 _
Rir(res e A ) = R T (s — i) — K (g — %) — B (A7) —Afq) =0

k+1 +1
(9.21)
r?;:ll = g(ter1, ki1, A1) + K (x?-tll —xg+1) + By (/\Iiirll — A1) (9.22)
with,
KI?H = V& (tig1, X711, /\I?H)
(9.23)
B?+1 = Vag(tei1, xl‘:ﬁulr /\I‘?ﬂ)
and the residue for r:
Rie1 = i1 — 8tk 1, %51, A1) (9.24)

Reduction to a linear relation between x,‘fjrrll and /\Ii‘jfll Inserting (9.22) into (9.14), we get the following
linear relation between x,‘fjll and /\]‘2‘:11,
1 1
R?Cree,k-i-l —hy {8(tk+lr X1 Aegr) + B?—&-l(}\?il - /\?ﬂ) + KI?H(X?L - x?ﬂ)} (9.25)

—h(1—=y)re + (M — hOAR, ) (xf] — xf 1) =0
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thatis
(M —hOAY | — hyKE ) (i —xf) = —Rieeprr — 1= 9.26)
+hy |:g(tk+1,x;?+1, Abs1) + BI?CH()\I?j-—ll - AI?H)} .
Let us introduce some intermediate notation:
WE | 2 M—hoA%, | —hyKE,,) (9.27)
A _
x‘fxree = xlpct-&-l - (WI;X+1> 1(R?ree,k-&-l 7h(1 - V)rk) (9'28)
and
A _
xp = hy(Wiy) gt 2 M) — B ()] +xfee | (9.29)
The relation (9.26) can be written as
A _
& [ WEL) B AR (9.30)

Reduction to a linear relation between y%,"! and A% ! Inserting (9.30) into (9.17), we get the following

k+1 k+1°
linear relation between y and A¥7/,
Vi = o+ [IYCEL (WEL) T B + D | AR 931)
with
Yp = Yir1 — Ryrsr + Ceya (xg) — Dt At (9.32)
Xg = x‘;,‘ —X{ (9.33)

Mixed linear complementarity problem (MLCP) To summarize, the problem to be solved in each
Newton iteration is:

Vil = Witk ARt + b
(9.34)
—Vith € N (AE)-
with Wyepky1 € R™*™ and b € R™ defined by
Wﬁ;lcpk+1 = h’ycl(chrl (WIEXJrl)_lBI‘:Jrl + D?+l (9.35)

by = Vp

The problem (10.41) is equivalent to a Mixed Linear Complementarity Problem (MLCP) which can
be solved under suitable assumptions by many linear complementarity solvers such as pivoting tech-
niques, interior point techniques and splitting /projection strategies. The reformulation into a standard
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MLCP follows the same line as for the MCP in the previous section. One obtains,

a+1l _ _ jna a+1 [o4
Ver1 = Wiy Hhia

(yEhi=0  forie {l.n} (9.36)

0< (A L(yE)i=0  forie{n.n+m}

9.3.1 The special case of Newton’s linearization of (9.5) with FirstOrderType2R (9.3)

Let us now proceed with the time discretization of (9.5) with FirstOrderType2R (9.3) by a fully implicit
scheme :

Mxg 1 = My + hOf (xpq1, trgr) +h(1—0) f(xg, tx) + hyr(tegr) + (1 —y)r(t)
Vi1 = (et X1, Aes1) (9.37)

ka1 = 8(tks1, Ag1)

Newton'’s linearization of the first line of (9.37) The linearization of the first line of the problem (9.37)
is similar to the previous case so that (9.14) is still valid.

Newton’s linearization of the second line of (9.37) The linearization of the second line of the prob-
lem (9.37) is similar to the previous case so that (9.17) is still valid.

Newton’s linearization of the third line of (9.37) Since K{, | = V1&(tr11,Afy1) = 0, the linearization
of the third line of (9.37) reads as

rl?i_ll = g(te+1, Afe1) + Big ()\‘H_l — A1) (9.38)

Reduction to a linear relation between x,‘fjll and /\,‘fjll Inserting (9.38) into (??), we get the following
A(XJrl

linear relation between x,‘fjll and we get the linear relation

k+1~
A _
X =g+ [hV(Wz?H) 132’11%‘3‘111} (9.39)
with
A _
Xy = hy(Wiiy) F 8tk AT) = B ()] + Hfiee (9.40)
and
W, 2 M— 1oAY, (9.41)
Reduction to a linear relation between y,‘fj_“ll and )\,‘j‘:ll Inserting (9.39) into (9.17), we get the following
linear relation between y?_tll and /'\,‘fj_rll,
Y = v+ (O (WEL) T B + D | A 9.42)
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with

Yp = Vi1 — Rypn + G (xg) — D A (9.43)

Xy = x;‘ — Xj4q (9.44) {eq:mlcp2-xqq}

9.3.2 The special case of Newton’s linearization of (9.5) with FirstOrderTypelR (9.2)

Let us now proceed with the time discretization of (9.5) with FirstOrderTypelR (9.2) by a fully implicit
scheme :

Mixiy1 = Mg+ hOf (xep1, tesn) + (1= 0)f (x, tic) + hyr(tega) + 1(1 = v)r(k)
Yer1 = h(ter1, Xep1) (9.45) {eq:mlcp3-totol-]

Tir1 = (b1 Aks1)

The previous derivation is valid with Dff, ; = 0.

9.3.3 Time-discretization of the linear case (9.4)

Let us now proceed with the time discretization of (9.5) with FirstOrderLinearR (9.4) by a fully implicit

scheme :
Mx¥ = Mxy + hOAxSH + h(1 — 0) Axy + hyr®Hl + (1 — y)r(t) + hb

k+1 k+1 k+1

+1 _ +1 +1
yl?—&-l - Cxlic-&-l + DAI?—i-l +Fz+e (9.46) {eq:totol-DS3}
a+l _ a+1
"1 = BAch

Rfree = M(x{q — xx) — hOAXT,  — h(1 — 0)Axy — hbyyq
Rfree = W(x]?_;,_l - xk) — hAxk — hbk+1

Resulting Newton step (only one step) For the sake of simplicity, let us assume that y = 1

(M — hA)x T = Mxy + h(1 — 0) Axy + hriHl + b

k+1
Vil = Ol + DAY + Fz+e (9.47)
+1 __ +1
e = BAGH

that lead to with: (M — h6A) = W
X = W (Mg + h(1 — 0) Ax + rif] + hb) = xfree+ W (rf])

yeH = (D+hCW ' B)AE + Fz + CW ! (Mg + h(1 — 0) Axy + hb) + e

(9.48)

with Xfee = X7 + W (= Rfree) = Xpi1— Wil(W(x,i‘Jrl —x) — hAxg — hbpyq) = W (Mg +h(1 —
0) Axy + hby, 1)

Yl = (D +hCW ' B)ATH! + Fz + Cifree + €
+1 _ pyatl (9.49)
en = BAG
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Coherence with previous formulation
Yp = Vi1 — Rippn + G (0 — x1) — DAL
Yp = Cxp + DA, + C(ffree) — DA+ Fz+e
Yp = Cxp + C(Ffree) + Fz + ¢

Yp = Cxy + C(%free) + Fz +e
Yp = C(xfree) +Fz+e
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9.4 Newton’s linearization of (9.6)

In this section, we deal with only with the FirstOrderType2R case.
Mxp, 1 = Mxp + h@f(ka, fep1) +R(1— G)f(xk, fe) + l’l?’k+7,
Yiry = Mty Xty Aery) (9:50)
Tty = 8(tktys Akty)

Newton’s linearization of the first line of (9.50) The first line of the problem (9.50) can be written
under the form of a residue R depending only on x;; and 7y, such that

R(xs1, Tiesy) = 0 (9.51)

with

R(x,r) = M(x — x) = hOf (x, tiy1) — h(1 = 0) f (xk, t) — hr.
The solution of this system of nonlinear equations is sought as a limit of the sequence {x¢, 1, 7%, },c N
such that

0o _
Xer1 = Xk

ey, = 0=+ rig =n

(9.52)
RL(x?j_rll/ r?:;) = R(XFy1,Ty) + [VXR(x?H' ”I?ﬂ/)} (X?If —Xg)+
1
(VRG] (8L =) = 0
9.4.1 Redaction note V. ACARY
What about r2+y ?
The residu free is also defined (useful for implementation only):
A
Riree(x) = M(x — x¢) = hOf (%, tiy1) — h(1 = 0) f (xp, ti)-
We get
A
R(xpi1:They) =] Ripa = Riree(¥i1) — hriy, (9.53)
A
Rfree(x?—l-l) = R%'ee,k+1 = M(xli(-&-l - xk) - h@f(X?_H, tk+1> - h(l - e)f(xkr tk)
The computation of the Jacobian of R with respect to x, denoted by W, ; leads to
A
Wik = VR (g q) = M = hOV L f (X1, e )- (9.54)
At each time—step, we have to solve the following linearized problem,
RE L+ WE (2 —x& ) —h(r¥L =% ) =0 (9.55)
k+1 1\ T+ 1 T kel kty  Tkty ’
By using (9.53), we get
Rfree(xlc:-&-l) - hr}?i; + WI?(-&-l (x]i(if - xl?—&-l) =0 (9~56)
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X = W) T + e 9.57)
with :
A -1
x?lc'ee = x]ic+1 - (ngitl) Rgee,kJrl (958)

The matrix W is clearly non singular for small /.
Note that the linearization is equivalent to the case (9.14) and (9.28) with ¥ = 1 and replacing 4,1

by 74y

Newton’s linearization of the second line of (9.50) The same operation is performed with the second
equation of (9.50)

Ry(x’ y/A) =Yy- h(tk-H/I Yx+ (1 - ’)/)xk//\> =0 (959)

which is linearized as

a+1 a+l yat+ly fo4 o o4 a+1 o
RLy(xk+1/yk+w7‘k+y) =Ry (X1, Visy Migy) + (yk+y — Y4y~

(9.60)
VC;CX+1 (xl?:ll - x;:+1) - DI‘:er(AI‘::; - /\I(:Jr)/) =0
This leads to the following linear equation
1 1 1
y}iciy =Yy R;C,kﬂ +7vCia (X?L — X)) + D?Jr)/(/'\]?j:‘y —Aey) | (9.61)
with,
Citry = Vah(tei1, Xg 1y, Afyy)
(9.62)
Dl‘éty = vAh(tk—‘rl/ x;ik)/’ /\Itquty)
and
A
;k-s—l = Yepy — B(xEsy, /\l‘?—i-‘y) (9.63)

Note that the linearization is equivalent to the case (9.17) by replacing Ax; 1 by Ari, and xxq1 by
.Xk+»)/.

Newton’s linearization of the third line of (9.50) The same operation is performed with the third
equation of (9.50)
Ri(1,A) =7 =8(A ty1) = 0

(9.64)
which is linearized as
RM(T?:;'/\?E) = Rikiy T Ulﬁq} —TEy) — B?w(/\ﬁ; = Afiy) =0 (9.65)
1 1
T?J_LY = g(Alla)/’ tery) — Bl?+7/)\l?+y + Bli(+y}\liciy (9.66)
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with,
B, = Vag(A tesy) (9.67)

and the residue for r:

Rty = Tery — Ay tiety) (9.68)

Note that the linearization is equivalent to the case (9.22) by replacing Ar;1 by Ar;,, and x4 1 by x4,

a+1

Reduction to a linear relation between .

and )‘I?:; Inserting (9.66) into (9.58), we get the following

linear relation between x%+! and A% 1

k+1 k+17
A = hOVE) T [8O Ly tesy) + B EE) = A | + 5% (9.69)
that is
X = xp + h(WE ) T BE AR (9.70)
with
xp 2OV T [8OR ) teiy) = By (OF4)] + ¥ (9.71)

Reduction to a linear relation between y?jf; and A?:; Inserting (9.70) into (9.61), we get the following

linear relation between y* ! and A%}

k+1 k+17
VEH = vy [ CRL (WE) T B + D | A (9.72)
with
Yp = Yir1 — Riker +vCia(xg) — DAt (9.73)
that is
Yp = h(x,‘fﬂ, AI?-w) + yC,‘fH(xq) - D?+1AI€(+1 (9.74)
Xy = (Xp = x{4q) (9.75)
The linear case N N N v a
Yo = h(xEy, Adey) +vCia(xg) — D AR

= C?+1x?+)/ + D?—&-IA?—I-V + ’)/C]‘(X+1 (xq) - D?—FlA?—!—l
Jo4 a «

= Ck+1 (xk+y + YXp — yxk+1?

= lecx+1 ((1 - Y)xk + foree)su'lce Xp = Xfree

(9.76)
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Implementation details For the moment (Feb. 2011), we set x; = (1 — y)x; + YXfree in the linear
case The nonlinear case is not yet implemented since we need to change the management of H_alpha in
Relation to be able to compute the mid—point values. things that remain to do

e implement the function BlockVector computeg(t,lambda) and SimpleVector computeh(t,x,lambda)
which takes into account the values of the argument and return and vector

e remove temporary computation in Relation of Xq,g_alphaand H_alpha. This should be stored
somewhere else. (in the node of the graph)

file DevNotes.tex - 2018-03-14 11:18



Chapter 10

Newton’s linearization for Lagrangian
systems

author | V. Acary
date Sept, 20, 2011
version

This section is devoted to the implementation and the study of the algorithm. The interval of inte-
grationis [0, T], T > 0,and a grid t) = 0, fxy1 = fx +h,k > 0, t5 = T is constructed. The approximation
of a function f(-) on [0, T] is denoted as fN(-), and is a piecewise constant function, constant on the
intervals [t t,1). We denote f (t;) as fi. The time-step is &t > 0.

10.1 Various second order dynamical systems with input/output re-
lations

10.1.1 Lagrangian dynamical systems

The class LagrangianDS defines and computes a generic ndof-dimensional Lagrangian Non Linear Dy-
namical System of the form :

{M(q,z)v + N(v,q,2) + Ft(v,q,t,2) = Fpy(t,2) + p (10.1)

g=mv
where

e g € R™f is the set of the generalized coordinates,

o j=0¢€ R™°f the velocity, i. e. the time derivative of the generalized coordinates (Lagrangian
systems).

j=ve R"°f the acceleration, i. e. the second time derivative of the generalized coordinates.

p € R™f the reaction forces due to the Non Smooth Interaction.

o M(q) € R™0f>*nof is the inertia term saved in the SiconosMatrix mass.

N(4,q) € R/ is the non linear inertia term saved in the SiconosVector _NNL.

Fiut(d,q,t) € R"°f are the internal forces saved in the SiconosVector fInt.

41



Siconos Development team - Notes 42/98

e Fry(t) € R™f are the external forces saved in the SiconosVector fExt.
e z € R*5* is a vector of arbitrary algebraic variables, some sort of discrete state.
The equation of motion is also shortly denoted as:
M(q,2)0 = F(v,q,t,z)+p (10.2)
where F(v,q,t,z) € R"™°f collects the total forces acting on the system, that is
F(v,q,t,z) = Fex(t,z) — NNL(v,q,2) + Fr (0,9, t, 2) (10.3)

This vector is stored in the SiconosVector _Forces

10.1.2 Fully nonlinear case

Let us introduce the following system,
= (10.4)

where A(t) € R™ and y(t) € R™ are complementary variables related through a multi-valued mapping.
According to the class of systems, we are studying, the function F , h and g are defined by a fully
nonlinear framework or by affine functions. This fully nonlinear case is not implemented in Siconos yet.
This fully general case is not yet implemented in Siconos.

10.1.3 Lagrangian Rheonomous relations
M(q,z)o = F(v,q,t,z) +p
g=v
(10.5)
y = h(t,q)
p=G(tqA)

10.1.4 Lagrangian Scleronomous relations

q
(10.6)
y = h(q)
p=G(q)A
Fully Linear case
Mo+ Cvo+Kq = Fey(t,z) +p
=9 (10.7)
y=Cqg+e+ DA+ Fz
p=CIa
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10.2 Moreau-Jean event-capturing scheme

In this section, a time-discretization method of the Lagrange dynamical equation (11.17), consistent
with the nonsmooth character of the solution, is presented. It is assumed in this section, as in the other
sections, that v™ (-) = 47 (+) is a locally bounded variation function. The equation of motion reads as,

M(q(t))do + N(q(£), 0" (£))dt + Fine (£, q(£), 0* (£)) dt = Foxe(£) dt + dr
ot (t) =47 (1) (10.8)

9(0) = g0 € C(0), 4(07) = o

We also assume that Fin¢(-) and Fext(+) are continuous with respect to time. This assumption is made for
the sake of simplicity to avoid the notation F;! (-) and F.},(-). Finally, we will condense the nonlinear

inertia terms and the internal forces to lighten the notation. We obtain

M(q(t))do + F(t,q(t), 0" (1)) dt = Fext(t) dt + dr
ot (t) =47 (1) (10.9)

q(0) = g0 € €(0), 4(07) = 4o

The NSCD method, also known as the Contact Dynamics (CD) is due to the seminal works of J.J. [?
?2222]and M. [? ? ] (See also [? ? ? ]). A lot of improvements and variants have been proposed over
the years. In this Section, we take liberties with these original works, but we choose to present a version
of the NSCD method which preserves the essential of the original work. Some extra developments and
interpretations are added which are only under our responsibility. To come back to the source of the
NSCD method, we encourage to read the above references.

10.2.1 The Linear Time-invariant NonSmooth Lagrangian Dynamics

For the sake of simplicity of the presentation, the linear time-invariant case is considered first. The
nonlinear case will be examined later in this chapter.

Mdo + (Kq(t) + CoT (1)) dt = Fexe(t) dt +dr

(10.10)
v(t) =47 (1)
10.2.1.a Time-discretization of the Dynamics
Integrating both sides of this equation over a time step (t, f; 1] of length 1 > 0, one obtains
t t
/ Mdv + o (Cot(t) +Kq(t))dt = / o Fext dt —l—/ dr,
(tets1] t t (tertesn]
(10.11)
tret1 n
9(terr) =qlt) + [ - o7 (1) dt
k
By definition of the differential measure dv, we obtain
/ Mdo =M / do = M (vF (t1) — 0" (1)) (10.12)
(terts1] (tertes1]
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Note that the right velocities are involved in this formulation. The impulsion /( | dr of the reaction
J (bt
on the time interval (#, f;, 1] emerges as a natural unknown. The equation of the nonsmooth motion

can be written under an integral form as:

te1
M (U(tk+1) _ v(tk)) = /tk (7CZ)+(t) - K"](t) + Fext(t))di’ + ,/(tk tk 1] dr’
(10.13)

e
atin) =gl + [ o ()
RdS
Choosing a numerical method boils down to choose a method of approximation for the remaining inte-
gral terms. Since discontinuities of the derivative v(-) are to be expected if some shocks are occurring,
i.e.. dr has some atoms within the interval (#, t;1 1], it is not relevant to use high order approximations
integration schemes for dr (this was pointed out in remark ??). It may be shown on some examples that,
on the contrary, such high order schemes may generate artefact numerical oscillations (see [? ]).
The following notation will be used:

e g is an approximation of g(#) and g1 is an approximation of q(tx,1),

o

e U} is an approximation of v (t;) and vy is an approximation of v (t;. 1),

® Pki1 is an approximation of / dr.
I (bt

A popular first order numerical scheme, the so called 8-method, is used for the term supposed to be
sufficiently smooth:

Q

tet1
| CotKqat ~ h(8(Cowa + Kai) + (1 - 0)(Cor + K]
k

/;kﬂ Fext(t)dt ~ h[0(Fext)k+1+ (1= 0)(Fext)s]

The displacement, assumed to be absolutely continuous, is approximated by:

Q1 = Gk + 1 [B0 1 + (1 — 0)vy]

Taking into account all these discretizations, the following time-discretized equation of motion is ob-
tained:
M(vis1 = vk) +h[0(Coppr + Kgpyr) + (1= 0)(Cox + Kap)] =

= N [0(Fext)k+1 + (1 — 0) (Fext)x] + Pk+1 (10.14)

Tk1 = qk + 1 [00x41 + (1 — 0)v¢]

Finally, introducing the expression of g1 in the first equation of (10.14), one obtains:

[M +hOC + h2921<] (Vps1 — ) = —hCoy — hKqgy — h20Koy

+h [Q(Fext)kJrl) + (1 - 6) (Fext)k] + Pk+1 / (10.15)

which can be written as:
k1 = Ofree + M pria (10.16)

where,
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e the matrix R
M= [M +hOC + hZBZK] (10.17)

is usually called the iteration matrix.

e The vector R
Ufree = Uk + M {_hcvk — hKqy — hZQKUk
(10.18)

+h [Q(Fext)kﬂ) + (1 - 9)(Pext)k]]

is the so-called “free” velocity, i.e., the velocity of the system when reaction forces are null.

10.2.1.b Comments

Let us make some comments on the above developments:

e The iteration matrix M = [M + hoC + hZGZK} is supposed to be invertible, since the mass matrix

M is usually positive definite and & is supposed to be small enough. The matrices C and K are
usually semi-definite positive since rigid motions are allowed to bodies.

e When 6 = 0, the 8-scheme is the explicit Euler scheme. When 8 = 1, the 6-scheme is the fully
implicit Euler scheme. When dealing with a plain ODE

M(f) + Cq(t) + Kq(t) = F(t) (10.19)
the 6—scheme is unconditionally stable for 0.5 < 8 < 1. It is conditionally stable otherwise.

e The equation (11.35) is a linear form of the dynamical equation. It appears as an affine relation
between the two unknowns, vy 1 that is an approximation of the right derivative of the Lagrange
variable at time ¢, 1, and the impulse py1. Notice that this scheme is fully implicit. Nonsmooth
laws have to be treated by implicit methods.

e From a numerical point of view, two major features appear. First, the different terms in the
numerical algorithm will keep finite values. When the time step / vanishes, the scheme copes
with finite jumps. Secondly, the use of differential measures of the time interval (f, tx,1], i-e..,
do((tg, tii1)) = 07 (fey1) — 01 () and dr((t, tey]), offers a rigorous treatment of the nonsmooth
evolutions. It is to be noticed that approximations of the acceleration are ignored.

These remarks on the contact dynamics method might be viewed only as some numerical tricks.
In fact, the mathematical study of the second order MDI by Moreau provides a sound mathematical
ground to this numerical scheme. It is noteworthy that convergence results have been proved for such
time-stepping schemes [? ? ? ? ], see below.

10.2.2 The Nonlinear NonSmooth Lagrangian Dynamics
10.2.2.a Time-discretization of the Dynamics

Starting from the nonlinear dynamics (10.9), the integration of both sides of this equation over a time
step (tx, txr1] of length h > 0 yields

bt g

/(tt ]M(‘”d” t F(trQ(t),v+(t))dt:/

Jt

" Faxe(t) dt + / dr,
I (teotieya]
(10.20)

b1
) =gt + [ ot () at

Jiy
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The first term is generally approximated by

[ M(@)dv~ M) (61— o) (10.21)
(trotrst]

where gy, generalizes the standard notation for y € [0, 1] such that

Qery = (1=7)qk + 7 Gk (10.22)
The a priori smooth terms are evaluated with a 8-method, chosen in this context for its energy conserva-
tion ability,
by -
/ F(t,q,0)dt ~ hEg (10.23)
tk

where Fy ¢ is an approximation with the following dependencies

F(tk/ Jkr Ok, tk+1/ Ak+17 Ok+1/ tk+9/ dk+6/ vk—l—@)

The mid-values tg, Gx19, Vx1o are defined by

tero = Ot + (1 — 0)y
Gkvo = Oqki1 + (1= 0)q , 0€10,1] (10.24)
Ukro = 00k 11 + (1 —0)g

Remark 1 The choice of the approximated function F(-) strongly depends on the nature of the internal forces that

are modeled. For the linear elastic behavior of homogeneous continuum media, this approximation can be made by:

- 1
Fevo = 5K+ [E(q0) + E(qe41)] < F(drpa/2) (10.25)

where E(: cdot) is the Green-Lagrange strain tensor, which leads to an energy conserving algorithm as in [? ].
For nonlinear elastic other smooth nonlinear behaviors, we refer to the work of [? ? | and references therein for the
choice of the discretization and the value of 0.

The displacement, assumed to be absolutely continuous is approximated by:

Jk+1 = gk +horpe

The following nonlinear time—discretized equation of motion is obtained:

M(qity) (k1 — 0k) + o = prsa
(10.26)

Jk+1 = gk + hvjio

In its full generality and at least formally, substituting the expression of gy, gx+1 and gy, the first line
of the problem can be written under the form of a residue R depending only on vy, such that

R(0k+1) = Pr+1 (10.27)

In the last expression, we have omitted the dependence to the known values at the beginning the time-
step, i.e. gy and vy.
10.2.2.b Linearizing the Dynamics

The system of equations (10.27) for vy, 1 and py,1 can be linearized yielding a Newton’s procedure for
solving it. This linearization needs the knowledge of the Jacobian matrix VR (-) with respect to its
argument to construct the tangent linear model.
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Let us consider that the we have to solve the following equations,
R(u)=0 (10.28)
by a Newton’s method where
R(#) = M(qk1y) (Vkr1 — vk) +hFypg (10.29)

The solution of this system of nonlinear equations is sought as a limit of the sequence {u{_ ; }re such
that

U1 = Vg

(10.30)

RL(“ZE) = R(”IZ-H) + vn(”lfﬂ)(”;ﬁﬁl - ”I:+1) =0
In practice, all the nonlinearities are not treated in the same manner and the Jacobian matrices for the
nonlinear terms involved in the Newton’s algorithm are only computed in their natural variables. In the
following, we consider some of the most widely used approaches.

The Nonlinear Mass Matrix The derivation of the Jacobian of the first term of R (-) implies to compute
Vi (M(qrry (u)) (1 — ) with geyy (1) = g+ vh[(1 - 0)o + Ou]. (10.31)
One gets

Vi (M(qreay (1)) (1 = v1)) - = M(qicry () + [VuM (g ()] (1 — %)
= M(qiry (1)) + YOV M(Gsy (u))] (4 — vp)
Remark 2 The notation V,,M(qy, (1)) (u — vy) is to be understood as follows:

ViuM(rpy (1)) (4 = vp) = %[M(Qkﬂ/(l‘))(” — 0]

(10.32)

M::
which is denoted as V;](qlﬂ_y(;,t))(ul — vi) in tensorial notation.
A very common approximation consists in considering that the mass matrix evolves slowly with the
configuration in a single time-step, that is, the term V;M(qy, ) is neglected and one gets,

Viu(M(Gy (1)) (1 = ) = M(Gii (u)) (10.33)
The Jacobian matrix VR (-) is evaluated in u_; which yields for the equation (10.33)
V(M (@) (g1 = k) = Mgy + vh[(1 = 0)o + Oug 1)) (10.34)
The prediction of the position which plays an important role will be denoted by
Tiy1 = gk + vh[(1 = 0)or + Oug 4] (10.35)

Very often, the matrix M(qy,) is only evaluated at the first Newton’s iteration with ug 11 = Uk
leading the approximation for the whole step:

M(qx + vh[(1 — 0)vy + Oug4])) =~ M(qx + hyvy) (10.36)

Another way to interpret the approximation (10.36) is to remark that this evaluation is just an explicit
evaluation of the predictive position (10.35) given by 6 = 0:

k1 = qr + Iyvg (10.37)
Using this prediction, the problem (10.26) is written as follows:

M(Fxs1) (Vg1 — vk) + hFirp = prsa
Jk1 = Gk + Mg (10.38)
Jk+1 = gk + hyoy
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The Nonlinear Term F(t,4,v) The remaining nonlinear term is linearized providing the Jacobian ma-
trices of F(t,q,v) with respect to g and v. This expression depends strongly on the choice of the approx-
imation F, g. Let us consider a pedagogical example, which is not necessarily the best as the Remark 1
suggests but which is one of the simplest,

Firo = (1= 0)F(ty, qi, vk) + OF (g1, G, Vks1) (10.39)
The computation of the Jacobian of Fig(t,g(u),u) for
q(u) = qic +h[(1 — E)vy + Ou]
is given for this example by

ViuFio(t,q,u) = 0VuF(tq(u),u)
= OV F(tig1,q(u), u)Vug(u) + 60V, F(t,q(u),u) (10.40)

= hHZVqF(t,q(u), u)+0VyF(t,q(u),u)
The standard tangent stiffness and damping matrices K; and C; are defined by

Ki(t,q,u) = V,4F(t,q,u)

(10.41)
Ci(t,q,u) = VuF(t,q,u)

In this case, the Jacobian of Fi4(t,q(u), u) may be written as

ViuFio(t,q,u) = h6*K(t,q,u) +6Ci(t,q,u) (10.42)
The complete Newton's iteration can then be written as
leill(”l:ill —upy1) = Rugyq) + P}fill (10.43)
where the iteration matrix is evaluated as

M = (M(GF.) + 120K (b1, 0F 1, UF1) + ORCy(t, GF 11, uF41)) (10.44)

(compare with (10.17)).

Remark 3 The choice of 0 = 0 leads to an explicit evaluation of the position and the nonlinear forces terms.
This choice can be interesting if the time—step has to be chosen relatively small due to the presence a very rapid
dynamical process. This can be the case in crashes applications or in fracture dynamics [? ]. In this case, the
iteration matrix reduces to ]\Z,fill = M(§{,,) avoiding the expensive evaluation of the tangent operator at each
time—step.

This choice must not be misunderstood. The treatment of the nonsmooth dynamics continues to be implicit.

10.3 Schatzman-Paoli 'scheme and its linearizations

10.3.1 The scheme

M) (Gk+1 — 2qx + Gk—1) — B*F(0ks0, Gk, testheta) = Prs1s (10.45a)
_ k41 — Gk—1
Vpy1 = T (10.45b)
_ o  Tk+1 Teqe—a
Y1 =h (1 s > (10.45¢)
k+1 T eqi—
Pir1 = G (W) Mt (10.45d)
0 < Ykt1 L A1 = 0. (10.45e)
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10.3.1 Redaction note V. ACARY
Should we have

_ Gk+1 — k-1
Uk+l - 2]’1

or
_ Tk+1 — gk
h

? This question is particularly important for the initialization and the proposed O-scheme

Ok+1

10.3.2 The Newton linearization
Let us define the residu on g

R(q) = M(q)(q — 2q + qx—1) + F*F((6v(q) + (1 — 6)vx), 09 + (1 — 0)qx), tryo) — Pks1 (10.46) {eq:residu}
with

v(q) = o (10.47) {eq:residu-lingi.
that is
R(q) = M(9)(q — 26 + g 1) + IPF(OT1=1 4 (1-0)04), 0+ (1 - 0)g0), o) — prar (1048)  Toqiresiau-ling2
Neglecting V;M(q) we get
VoR(g¥) = M(q") + h*0K(g",v") + %hQC(qV, vY) (10.49) {eq:iterationmat:

and we have to solve
qu(qv) (qV-H —q7) = -R(q"). (10.50) {eq:iterationloo

10.3.3 Linear version of the scheme

M(qir1 = 2qk + qk-1) + h* (Kqiro + Corsa) = Prya, (10.51a)
V1 = W (10.51b)
_ [ k1t ek
Yerr =h ( Tre > (10.51c)
+ eqy—
prot = G (B ) (10514)
0< ys1 L Aeq 2 0. (1051e)
Let us define the residu on g
R(q) = M(q — 24 + gx—1) + h*(K(6q + (1 — 6)qx)) + C(60(q) + (1 — 6)x)) — pri1 (10.52) {eq:residu-ling}
with _
v(g) = q 2?1](71 (10.53) {eq:residu-linqi.
that is

R(q) = M(q —2q + qx_1) + h2(K(6g + (1 — 0)qx))) + hZC(Gq *2”;1"*1 +(1—0)0p)) — prs1 (10.54) {eq:residu-ling2

In this linear case, assuming that 7° =g = qi, we get

R(7") = M=+ x1) + 12 (Kqy) + 2COEIL 4 (1 - 0)0y)) — pra (10.55) {eq:residu-ling2
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10.4 What about mixing OnestepIntegrator in Simulation?

Let us consider that we have two simple linear Lagrangian Dynamical systems

M1 = Fypx(t) + p1 (10.56)
41 =11

and
M9y = Fy pu(t) + p2 (10.57)
g2 =02

These Dynamical systems (10.57) and (10.57) might numerically solved by choosing two different time—
stepping schemes. Let us choose for instance Moreau’s scheme for(10.57)

M1 (0111 — 01%) = Fyexe(trs1) + Prist (10.58)
A1k+1 = Gk +ho1jre

and Schatzman-Paoli’s sheme for (10.57)

M2 (G241 — 202k + G2k-1) = F2,Exe(tes1) + P21
_ 92k+1 — 261 (10.59)
02 k+1 = — on

Let us consider known that we have a LagrangianLinearTIR between this two DSs such that

Yy=q1—9220
(10.60)
1
=[]
and a complementarity condition
0<yLA>0 (10.61)
Many questions are raised when we want to deal with the discrete systems:
e Which rules should we use for the discretization of (10.61) ?
if fryq <0, then 0 < g1 +eyx L Agyq >0 (10.62)
or )
0<yk+1+eyp-1L A1 20 (10.63)

e Should we assume that yi+1 = 41 k+1 — G2 k+1 and Y1 = V1 k41 — V2 k41
e How can we link }A\kH and Ay with P1i+1and pppiq ?

The third is the more difficult question and is seems that it is not reasonable to deal with two DS
related by one interaction with different osi.In practice, this should be avoided in Siconos.

file DevNotes.tex - 2018-03-14 11:18

{Sec:Mising0STI}

{eq:

{eq:

{eq:

{eq:

{eq:

{eq:

{eq:

{eq:

FullyLinearl

FullyLinearl.

FullyLinearl

FullyLinearl

LTIR-2DS}

CP}

CP-TS1}

CP-TS2}



Chapter 11

NewtonEuler Dynamical Systems

Author  O. Bonnefon 2010
Revision section ?? to ?? V. Acary 05/09/2011
Revision section ?? V. Acary 01/06/2016

Revision complete edition V. Acary 06/01/2017

11.1 The equations of motion

In the maximal coordinates framework, the most natural choice for the kinematic variables and for the
formulation of the equations of motion is the Newton/Euler formalism, where the equation of motion
describes the translational and rotational dynamics of each body using a specific choice of parameters.
For the translational motion, the position of the center of mass xz € R3 and its velocity vg = Xg € R3
is usually chosen. For the orientation of the body is usually defined by the rotation matrix R of the
body-fixed frame with respect to a given inertial frame.

For the rotational motion, a common choice is to choose the rotational velocity Q € R® of the body
expressed in the body—fixed frame. This choice comes from the formulation of a rigid body motion of a
point X in the inertial frame as

x(t) = O(t, X) = xg(t) + R(£) X. (11.1)

The velocity of this point can be written as
X(t) = vg(t) + R(H)X (11.2)

Since R'R = I, we get R' R + R" R = 0. We can conclude that it exists a matrix Q := R' R such that
QO+ Q7 =0,ie. askew symmetric matrix. The notation Q comes from the fact that there is a bijection
between the skew symmetric matrix in R**% and R® such that

Qxr=Qxx, VxeR. (11.3)
The rotational velocity is then related to the R by :
Q = RTR, or equivalently, R = RQ (11.4)

Using these coordinates, the equations of motion are given by

mvg = f(t xg,vg R, Q)
IO+QxIQ = M(txgvg R, Q) 115)
Xg = Ug '
R = RQ

R3><3

where m > 0 is the mass, I € is the matrix of moments of inertia around the center of mass and

the axis of the body-fixed frame.
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The vectors f(-) € R® and M(:) € R® are the total forces and torques applied to the body. It is
important to outline that the total applied forces f(-) has to be expressed in a consistent frame w.r.t. to
vg. In our case, it hae to be expressed in the inertial frame. The same applies for the moment M that has
to be expressed in the body-fixed frame. If we consider a moment m(-) expressed in the inertial frame,
then is has to be convected to the body-fixed frame thanks to

M() = RTm(') (11.6) {eq:convected_mo:

Remark 4 If we perform the time derivation of RR" = I rather than R'R = I, we get RR" + RR" = 0. We
can conclude that it exists a matrix @ := RR" such that &+ @' = 0, i.e. a skew symmetric matrix. Clearly, we
have
@ =RAOR" (11.7) {eq:4}
and it can be proved that is equivalent to w = RQ. The vector w is the rotational velocity expressed in the inertial
frame. The equation of motion can also be expressed in the inertial frame as follows

mog = f(t, xg,vg,R,RTw)
](R)d) +wX ](R)w = m(t’ Xgs Ug/ R, w) (11.8) {eq:motion-Newto:
Xg = Ug
R = @R

where the matrix J(R) = RIRT is the inertia matrix in the inertial frame. Defining the angular momentum with
respect to the inertial frame as

n(t) = J(R(t))w(t) (11.9) {eq:1}
the equation of the angular motion is derived from the balance equation of the angular momentum
7(t) = m(t, xg, vg, R, w)). (11.10) {eq:5}
For a given constant (time invariant) Q, let us consider the differential equation
R(f) = RQ (11.11) {eq:5}
. eq:
R(0) =1 4
Let us recall the definition of the matrix exponential,
o 1
exp(A) = k;) HA" (11.12) {eq:6}
A trivial solution of (11.11) is R(t) = exp(tQ) since
%(exp(At)) = exp(At)A. (11.13)  {eq:7}
More generally, with the initial condition R(ty) = R, we get the solution
R(t) = Roexp((t —t)Q) (11.14) {eq:8}

Another interpretation is as follows. From a (incremental) rotation vector, Q and its associated matrix
(), we obtain a rotation matrix by the exponentation of Q:

R = exp(fl). (11.15) {eq:9%
Since we note that 0% = —6%Q with 6 = || Q|), it is possible to get a closed form of the matrix exponential
of O
~ A
exp(@) = Y 4(Q)
k=0 00 k-1 —
= I3+ Z (—1) 92k—1ﬂ+(2 ( ) Q)Zk—2Q2 (11.16) {eq:10}
= (2k —1)! P (2k)!
sin@ ~ cost—1) ~
= L+ Q+( 5 )QZ
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that is - (cos6 1)
sin@ ~ cosf —
R =133+ 0 Q-+ 02
The formula (11.17) is the Euler-Rodrigues formula that allows to compute the rotation matrix on closed

form.

Redaction note V. ACARY
todo :

Q? (11.17)

e add the formulation in the inertial frame of the Euler equation with w = RQ.

{eq:11}

e Check that (11.16) is the Euler-Rodrigues formula and not the Olinde Rodrigues formula.

(division by 6)

In the numerical practice, the choice of the rotation matrix is not convenient since it introduces re-
dundant parameters. Since R must belong to SO (3), we have also to satisfy det(R) = Tand R"! = R'.
In general, we use a reduced vector of parameters p € R such R = ®(p) and p = {(p)Q. We denote
by g the vector of coordinates of the position and the orientation of the body, and by v the body twist:

q:= J;g} , U= {Zg] . (11.18)

The relation between v and the time derivative of g is

7= {wéf)f): = {(l) w?m} v=T (11.19)

with T(g) € R¥*®, Note that the twist v is not directly the time derivative of the coordinate vector as
a major difference with Lagrangian systems.
The Newton-Euler equation in compact form may be written as:

q="T(q)v,
{ Mo = E(t q,0) (11.20)

where M € R®* is the total inertia matrix

L Wl[3><3 0
M.—< 5 1>' (11.21)

and F(t,q,v) € R® collects all the forces and torques applied to the body

._ f(t xg,0g, R, Q)
F(t g,0) = (IQ X Q + M(t, xg,05,R,Q) ) (11.22)

When a collection of bodies is considered, we will use the same notation as in (11.20) extending the
definition of the variables g, v and the operators M, F in a straightforward way.

11.2 Basic elements of Lie groups and Lie algebras theory.

Let us recall the definitions of the Lie group Theory taken from [2] and [4].
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11.2.1 Differential equation (evolving) on a manifold M
Definition 2 A d-dimensional manifold M is a d-dimensional smooth surface M C R" for some n > d.

Definition 3 Let M be a d-dimensional manifold and suppose that p(t) € M is a smooth curve such that
p(0) = p. A tangent vector at p is defined as

d

a = 4 (e(1)) (11.23)

t=0

The set of all tangents at p is called the tangent space at p and denoted by T M |,. It has the structure of a linear
space.

Definition 4 A (tangent) vector field on M is a smooth function F : M — TM such that F(p) € TM|, for
all p € M. The collection of all vector fields on M is denoted by X (M).

Definition 5 (Differential equation (evolving) on M) Let F be a tangent vector field on M. By a differen-
tial equation (evolving) on M we mean a differential equation of the form

y=F(y),t>0,y(0) € M (11.24)

where F € X (M). Whenever convenient, we allow F in (11.24) to be a function of time, F = F(t,y). The flow
of F is the solution operator ¥ r : M — M such that

y(t) = ¥y r(y0). (11.25)

11.2.2 Lie algebra and Lie group

Definition 6 (commutator) Given two vector fields F, G on R" , the commutator H = [F, G] can be computed
componentwise at a given point yR" as

v oF;(y) JG;(y)
Hi(y)—];Gj(y) 3, Fi(y) 3, (11.26)

Lemma 1 The commutator of vector fields satisfies the identities

F}:Gi;] = [%:F(];] " (skewsymmetry),

aF, = «afF,Gl,a€

[F+G,H| — [FH]+[G H| (bilinearity), (11.27)
0 = [F[G H]||+[G,[H F]]+|H,[F,G]] (Jacobisidentity).

Definition 7 A Lie algebra of vector fields is a collection of vector fields which is closed under linear combination
and commutation. In other words, letting g denote the Lie algebra,

Beg = aB € gforall xR.
B1,B € g = Bl+B2,[B1,Bz] €g

Given a collection of vector fields B = B1, By, ..., the least Lie algebra of vector fields containing B is called
the Lie algebra generated by B

(11.28)

Definition 8 A Lie algebra is a linear space V equipped with a Lie bracket, a bilinear, skew-symmetric mapping
[,:]: VXV =V (11.29)
that obeys identities (11.27) from Lemma 1

Definition 9 ((General) Lie algebra) A Lie algebra homomorphism is a linear map between two Lie algebras,
@ : g — b, satisfying the identity

P([v,wlg) = [@(v), @(w)]y, v, wing. (11.30)

An invertible homomorphism is called an isomorphism.
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Definition 10 A Lie group is a differential manifold G equipped with a product - : G X G — G satisfying

p-(qg-r)=(p-q)-rp,q,rG (associativity)
dleGsuchthatl-p=p-I1=p,Vpeg (identity element)
Vpe G, €Gsuchthatp'-p=1 (inverse) (11.31)
The maps(p,r) — p-rand p — p~are smooth functions (smoothness)

Definition 11 (Lie algebra g of a Lie group G) The Lie algebra g of a Lie group G is defined as the linear space
of all tangents to G at the identity 1. The Lie bracket in g is defined as
92
[a,0] = 5= p(s)a(t)p(—s) i (11.32)

where p(s) and o (t) are two smooth curves on G such that p(0) = 0(0) = I, and p(0) = aand ¢(0) = b.

11.2.3 Actions of a group § on manifold M
Definition 12 A left action of Lie Group G on a manifold M is a smooth map Al : G x M — M satisfying

A(Ly) =y VyeM
/\l(p,/\(r,y)) = /\l(p-r,y), Vp,re G, VYye M.

Definition 13 A right action of Lie Group G on a manifold M is a smooth map A" : M x G — M satisfying

ANyl =y VyeM
N (A(y,r),p) = AN(yr-p), Ypreg, YyeM.

(11.33)

(11.34)

A given smooth curve S(-) : t € R — S(t) € G in G such that $(0) = I produces a flow A/(S(t), )
(resp. A"(+, S(t))) on M and by differentiation we find a tangent vector field

Fly) = SN (5(0), ) ) (1135

t=0

(resp. F(y) = £ (N (3,5(1))

t=0

that defines a ordinary differential equation on a Lie Group

y(t) = F(y(t)) = %(/\Z(S(f)/}/) (resp. y(t) = F(y(t)) = %(/\r(}//s(t)) ) (11.36)
t=0 t=0
Lemma 2 Let AL : g — X(M) (resp. A, : g — X (M) be defined as
A@w) = gN G| e K@) = LA e ) (11.37)

where p(s) is a curve in G such that p(0) = I and p(0) = a. Then AL is a linear map between Lie algebras such
that

[a,b]g = [A%(@), AL(0)]x mp)- (11.38)

The following product between an element of an algebra a € g with an element of a group o € G can
be defined. This will served as a basis for defining the exponential map.

Definition 14 We define the left product (-,-)' : g x G — G of an element of an algebra a € g with an element
ofagroup o € G as

(a,0) =a-0= ip(s) o (11.39)
ds 5=0
where p(s) is a smooth curve such that p(0) = a and p(0) = I. In the same way, we can define the right product
C,Jr:gjxg-—>g
d

(c,a) =0-a= %a.p(s) » (11.40)
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11.2.4 Exponential map

Definition 15 Let G be a Lie group and g its Lie algebra. The exponential mapping exp : g — G is defined as
exp(a) = o(1) where o(t) satisfies the differential equation

o(t) =a-o(t), o(0)=1I (11.41)

Let us define a* as

ak:a-a~...a~afork21
k times (1]J42)

=1

The exponential map can be expressed as

00 tll)k
exp(at) = Y (k' (11.43)
k=0 :
since it is a solution of (11.41). A simple computation allows to check this claim:
a e LA 11.44
Eexp(at)—k;1 t E—wk;]tﬁ—a-exp(at). (11.44)
A similar computation gives
iex (at) = ftké-a—ex (at)-a (11.45)
dr PV T L Ty T SR '

The exponential mapping exp : ¢ — G can also be defined as exp(a) = o(1) where o(t) satisfies the
differential equation
o(t)y=0(t)-a, o(0)=1. (11.46)

Theorem 1 Let A' : G x M — M be a left group action and A' : g — X (M) the corresponding Lie algebra
homomorphism. For any a € g the flow of the vector field F = AL(a), i.e. the solution of the equation
y(t) = F(y(t) = Al(a)(y(t), t>0,y(0)=yo € M, (11.47)
is given as
y(t) = Al(exp(ta), yo). (11.48)

Let A" : M x G — M be a right group action and A" : g — X (M) the corresponding Lie algebra homomor-
phism. For any a € g the flow of the vector field F = Al (a), i.e. the solution of the equation

y(t) = F(y(t)) = AL(a)(y(t)), t=>0,y(0)=yo € M, (11.49)
is given as
y(t) = A (yo, exp(ta)). (11.50)
11.2.5 Translation (Trivialization) maps

The left and right translation maps defined by

L,:GxG — G (lefttranslation map )

o 2y (11.51)

and

R:(y):GxG — G (righttranslation map) (11.52)
y =y '

z
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If we identify the manifold M with the group G, The left and right translations can be interpreted as
the simplest example of group action on the manifold. Note that the left translation map can be viewed
as a left or right action on the group.

If we consider L,(y) as a right group action L.(y) = A’(z,y) = z -y, by differentiation we get a
L. :Tg=g— T.G with p(0) = a such that

d
N(@)(E) = Le(a) = ZA G pl)| =z (11.53)
Th
e map L/ g R ng
'

A (11.54)

determines an isomorphism of g with the tangent space T,G. In other words, the tangent space can be
identified to g as
T.G ={L.(a) =z-a|a € g} (11.55)

Respectively, if we consider R, (y) as a left group action R, (y) = Al(y,z) = y - z, by differentiation
we geta R, : Tg = g — T,G with p(0) = a such that
d
AL(a)(z) = Ri(a) = —Al(p(s),z)] =a-z (11.56)
ds s=0
The map
Rl:g = TG

PG (11.57)

determines an isomorphism of g with the tangent space T,G. In other words, the tangent space can be
identified to g as

T.G = {Ri(a) =a-z|ac g} (11.58)
Any tangent vector F : G — T,G can be written in either of the forms
F(z) = LL(f(a)) = RZ(8(2)) (11.59)

where f,9G — g.

11.2.6 Adjoint representation

Definition 16 Let p € G and let o(t) be a smooth curve on G such that 0(0) = Iand 6(0) = b € g. The adjoint
representation is defined as

d
Ad,(b) = Ep(r(t)p_l (11.60)

t=0
The derivative of Ad with respect to the first arqument is denoted ad. Let p(s) be a smooth curve on G such that
p(0) = I and p(0) = a, it yields:

d

ad,(b) = %Adp(s)(b) o = [a, b] (11.61)
The adjoint representation can also be expressed with the map
Adp(b) = (Lp-Ry1)'(b) = (L, - R, 1) (b) = p-b- pt (11.62)

For a tangent vector given in (11.59), we have
g(z) = Ad(f(z)) (11.63)
Another important relation relating Ad, ad and exp is

Ad =expad, (11.64)

exp(a)
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11.2.7 Differential of the exponential map

There are multiple ways to represent the differential of exp(-) at a point @ € g. Let us start by the
following definition of the differential map ata € g

exp’a N exp a)g

v expl(v) = %exp(a + tv) (11.65)

t=0
The definition is very similar to the definition of the directional derivative of exp in the direction v € g

at a point a € g. Using the expression (11.58) of the tangent space at exp(a), we can defined another
expression of the differential map denoted as dlexp . - 8 — gsuch that

d'exp, = Ll 11 - €XP) = Legp(—a) - €XP} (11.66)

This expression appears as a trivialization of the differential map exp/,. Using the expression of L, in
(11.57). In [4, Theorem 2.14.13], an explicit formula relates d'exp , to the iteration of the adjoint operator:

dlexp,( . Z

1)k —exp-
(ada (b)) = %(b) (11.67)

where (ad, )" is the kth iteration of the adjoint operator:

(ada)¥(b) = [a,[a,[...,a,[a,b]]] fork >1
k times (11.68)
(ada)’(b) = b
It is also possible to define the right trivialized differential of the exponential map
d'exp, = Réxp,l(u) -exp) = R;xp( g exp, (11.69)
that is
d"exp,(b) = expl,(b) - exp(—a) (11.70)
With these expression, we have equivalently for
exp/ (b) = exp, - dlexp,(b) and exp!(b) = d"exp,(b) - exp(a) (11.71)

To avoid to burden to much the notation, we introduced the unified definition of the differential map
that corresponds to dexp = d"exp

Definition 17 The differential of the exponential mapping, denoted by dexp,, : g x g — g is defined as the “right
trivialized” tangent of the exponential map

2 (exp(a(t))) = dexp, ) (@ (1)) exp(at) (11.72)

An explicit formula relates dexp,, to the iteration of the adjoint operator:

dexp, (b) = ki) (kjl)!(ada(b))" = %ﬁ“—e(b) (11.73)

Redaction note V. ACARY
Say what is not the Jacobian in R*
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As for Ad, and ad,, the mapping dexp,(b) is a linear mapping in its second argument for a fixed a.
Using the relation (11.64), we can also relate the right and the lest trivialization tangent

e —exp -ad, e—exp-ad_,;
d'exp, (b) = (Adep(s) - dexp(@))(b) = (exp(ad a) - ———F) (b) = =55 (b) = dexp_,(b)

(11.74)
It is also possible to define the the “left trivialized” tangent of the exponential map

@ (exp(a(1))) = exp(a(t)) d'expy ) (a'(1) = expla(t)) dexp_, (a'(1) (11.75)

Redaction note V. ACARY
other notation and Lie derivative

Df - Q(p) = (Q"f)(p) (11.76)

Inverse of the exponential map The function dexp,, is an analytical function so it possible to invert it
to get

dexp, ! = k;) (’E:])(!(ada)k(b) (11.77)

where By, are the Bernouilli number.

11.2.8 Differentialofamap f: G — g
We follow the notation developed in [3]. Let us first define the differential of the map f : G — g as

fi: TG — Tpze =g

d .
b oz exp(iLLL (1) (79

t=0

The image of b by f/ is obtained by first identifying b with an element of v € g thanks to the left
representation of Ty (,)g view the left translation map v = tL.(b). The exponential mapping transforms

v an element y of the Lie Group G. Then f] is obtained by

f2(b) = lim JM (11.79)
As we have done for the exponential mapping, it is possible to get a left trivialization of
df:=(f-L) = f.- L. (11.80)
thus
4 fole) = fL-Lifa) = FULL@) = Tf(z-explta))| (1181)

Newton Method Let us imagine that we want to solve f(y) = 0 for y € G. A newton method can be
written as
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11.3 Lie group SO(3) of finite rotations and Lie algebra so0(3) of in-
finitesimal rotations

The presentation is this section follows the notation and the developments taken from [2? ]. For more
details on Lie groups and Lie algebra, we refer to [4] and [? ].

The Lie group SO(3) is the group of linear proper orthogonal transformations in R> that may be
represented by a set of matrices in R>*3 as

SO(3) = {R € R¥3 | RTR = I,det(R) = +1} (11.82)

with the group law given by Ry - R, = RiR; for Ry, Ry € SO(3). The identity element is e = I3,3. At
any point of R € SO(3), the tangent space TR SO(3) is the set of tangent vectors at a point R.

Left representation of the tangent space at R, TRSO(3) Let S(t) be a smooth curve S(-) : R — SO(3)
in SO(3). An element a of the tangent space at R is given by

d
a= 25(t) . (11.83)

such that S(0) = R. Since S(t) € SO(3), we have %(S(t)) = S(H)ST(t) + S(t)ST(t) = 0. Att = 0, we

getaRT + RaT = 0. We conclude that it exists a skew—symmetric matrix QO = RTa such that QT +Q = 0.
Hence, a possible representation of TR SO(3) is

TrSO(3) = {a=RQ € R*3 | QT+ O =0}. (11.84)
For R = I, the tangent space is directly given by the set of skew—symmetric matrices:
T;50(3) = {Q € R¥3 | QT + O = 0}. (11.85)
The tangent space T;SO(3) with the Lie Bracket [+, -] defined by the matrix commutator
[A,B] = AB — BA (11.86)
is a Lie algebra that is denoted by
503) ={Q e R¥>3 | Q+QT =0}. (11.87)

For skew symmetric matrices, the commutator can be expressed with the cross product in R®

[Q,T=Qrf -TQ=QxT (11.88)

We use T;SO(3) = s0(3) whenever there is no ambiguity.
The notation Q is implied by the fact that the Lie algebra is isomorphic to R® thanks to the operator

6 : R® — s50(3) and defined by

. 0 —-Q3 O
() Q= Q= Q3 0 -0 (11.89)
—-Q, O 0

Note that Qx = Q x x.
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A special (right) action of Lie Group G on a manifold M. Let us come back to the representation of
TrSO(3) given in (11.84). It is clear it can expressed with a representation that relies on so(3)

TRSO(3) = {a=RO € R¥3 | Q €50(3)}. (11.90)

With (11.90), we see that there is a linear map that relates TR SO(3) to s0(3). This can be formalize by
noting that the left translation map for a point R € SO(3)

Lg : SO(3) = SO(3)
S+ Lg(S) = R-S = RS (11.91)
which is diffeomorphism on SO(3) is a group action. In our case, we identify the manifold and the
group. Hence, the mapping L can be viewed as a left or a right group action. We choose a right action
such that A"(R,S) = Lr(S) = R-S. By differentiation, we get a mapping Ly : Tjs0(3) = so(3) —
TrSO(3). For a given Q € s0(3) and a point R, the differential L by computing the tangent vector field
AL (a)(R) of the group action A"(R, S) for a smooth curve S(t) : R — S0(3) such that $(0) = Q:

N (a)(R) = %/\’(R, S| = %LR(S(t)) - %R S()| =R-3(0) =RAEX(M) (1190

Therefore, the vector field in (11.92) is a tangent vector field that defines a Lie-Type ordinary differential
equation . )
R(t) = Ai(a)(R(t)) = R(£)Q (11.93)

In [1], the linear operator Al (a) is defined as the directional derivative with respect to S an denoted
DLg(S). It defines a diffeomorphism between TsSO(3) and TgsSO(3). In particular, for S = 3,3, we
get

DLR(I?,X?,) 150(3) — TRSO(3)

O > DLp(ls3).0 = RO (11.94)
We end up with a possible representation of TR SO(3) as
TRSO(3) = {QR | QR = DLR(I3X3).Q = R.O.,Q € 50(3)}. (11.95)

In other words, a tangent vector Q € s0(3) defines a left invariant vector field on SO(3) at the point R
given by RQ.

Redaction note V. ACARY '

what happens at S(0) = R, with a = RQ = S(0) and then y(t) = F(y(t)) = RQy(t) = RQ x
y(t) = S(0)y(t). What else ?

Exponential map expmso(3) — SO(3) The relations (11.35) and (11.36) shows that is possible to
define tangent vector field from a group action. We can directly apply Theorem 1 and we get that the
solution of

{R(t) = AL (a)(R(5)) = R()O 1196
R(0) =Ry '
° R(t) = Rypexpm(tQ) (11.97)

Let us do the computation in this case. Let us assume that the solution can be sought as R(t) =
A (Yo, S(t)). The initial condition imposes that R(0) = Ry = A(Ro,I) = A(Rp, S(0)) that implies
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S(0) = I. Since A(Ry, S(t)) is the flow that is produces by S(t) and let us try to find the relation satisfied
by S(+). For a smooth curve T(s) € SO(3) such that T(0) = Q, we have

RO = N@RE) = TAROTE)|
= SNARS(0), TE))
p 5=0 (11.98)
= LWRSW-TE)|

= DaA"(Ro,-S(t) - T(0))
= DA (Ry, S(t) - Q)

On the other side, the relation y(t) = A" (yo, S(t)) gives 1(t) = DoA’(yo, S'(t)) and we conclude that

S(t)=S(t)-Q=5(tQ
{5(0) _ (11.99)

The ordinary differential equation (11.99) is a matrix ODE that admits the following solution
S(t) = expm(tQ) (11.100)

where exp : R>*3 — R3*3 is the matrix exponential defined by
expm(A) = Y H(A) ) (11.101)

We conclude that R(t) = A(Rp, S(t)) = Roexpm(tQ) is the solution of (11.46).
We can use the closed form solution for the matrix exponential of tQ € s0(3) as

sintf ~  (costd—1) ~,

expm(tQ) = I35 + g Q+ oz Q (11.102)
with 8 = ||Q]|. For given Q € s0(3), we have
det(Q) = det(QT) = det(—QT) = (—1)% det(Q) = — det(Q) (11.103)

that implies that det(Q) = 0. From (11.102), we conclude that
det(expm(tQ)) = 1. (11.104)

Furthermore, we have expm (tQ) expm(—tQ) = expm(+(Q — Q)) = I. We can verify that expm(tQ) €
50(3).

Adjoint representation In the case of SO(3), the definition of the operator Ad gives
Adr(Q) = RORT (11.105)

and then mapping ad g (I") is defined by

ady(F) = OF —FQ =[O, =QxT. (11.106)

Using the isomorphism between 50(3) and R?, it possible the define the mapping adq (T : R® x R® —
R3 with the realization of the Lie algebra in R> as

ado(N =Qr=Q xT (11.107)
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Differential of the exponential map dexpm The differential of the exponential mapping, denoted by
dexpm is defined as the right trivialized” tangent of the exponential map

2 (xp(01)) = dexpyy (o) exp(0(1)) (11.108

The differential of the exponential mapping, denoted by dexpm is defined as the ‘left trivialized’
tangent of the exponential map

2 (exp(0(1))) = dexpay (31 exp((1) (11.109)

Using the formula (11.73) and the fact that ad () = QT, we can write the differential as

dexps(M) = ) adk ()
k+1)1 70
k=0 ( J; ) (11.110)
= ol
kgb (k+1)!
Using again the fact that Q% = —62Q, we get
_ oy L Ak
sy = £ b0
B N G L (D
= I+ 070 + 0" Q)
k§0<<z(k+1)>z kZO (2(k+1)+1)!
Hence, we get
1-—- 0)) ~ 0 —sin(0)) ~
doxpg = 1+ 10 g , 0=on(®) g (11.112)
Since dexpg is a linear mapping from so(3) to so(3), we will use the following notation
dexpg I := T(Q)F (11.113)
. (1—cos(6) 5 , (0—sin(@)
— cos ~ —sin ~
T(Q) =1+ 5 Q-+ i Q% e R¥ (11.114)
11.3.1 Newton method and differential of amap f : G — g
Finally, let us define the differential of the map f : SO(3) — s0(3) as
fr:TrRSO(B) — Tprys0(3) = s0(3)
(11.115)

d /
a — af(R-expm(tLR,](a))) .

The image of b by f! is obtained by first identifying a with an element of Q € s0(3) thanks to the
left representation of T¢(gys0(3) view the left translation map QO = tL(b). The exponential mapping

transforms Q) an element S of the Lie Group SO(3). Then f} is obtained by
fr(b) = lim f(R-S) — f(R) (11.116)
t—=0 t

As we have done for the exponential mapping, it is possible to get a left trivialization of
dfg = (foLr) = frolLy (11.117)
thus

4 frl0) = fio Lh(Q) = frL(Q) = F(R-expm(1)| (11118)
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Redaction note V. ACARY
The computation of this differential is non linear with respect to ().

not clear if we write d fr(Q). Better understand the link with dexpgl

Sometimes, it can be formally written as
de(Q) = C(Q)Q (11.119)

Nevertheless, an explicit expression of C(-) is not necessarily trivial.

Let us consider a first simple example of a mapping f(R) = Rx fora given x € R3. The computation
yields

dfr(Q) = —Rexp(tQ)x

<O (11.120)

= RT(Q)Qx
= —RT(Q)xQ

In that case, it is difficult to find a expression as in (11.119), but considering the function g(R) such that
f(R) = g(x) we get )
dgr(Q) = —RT(Q)x¥Q =C(Q)Q (11.121)

with
C(Q)=—-RT(Q)x (11.122)

11.4 Lie group of unit quaternions H; and pure imaginary quater-
nions H,.

In Siconos we choose to parametrize the rotation with a unit quaternion p € H such that R = ®(p).

This parameterization has no singularity and has only one redundant variable that is determined by

imposing ||p|| = 1.

Quaternion definition. There is many ways to define quaternions. The most convenient one is to
define a quaternion as a 2 x 2 complex matrix, that is an element of C>*2. For this end, we write for
z€C, z=a+ibwithab e R*and i* = —1 and its conjugate Z = a — ib. Lete,,1i,j, k the following

matrices in C2*2
1 0 . i 0 . 0 1 0 i
N B ) I X [ -

Definition 18 Let H be the set of all matrices of the form
poe + pii+ pa2j + psk (11.124)

where (po, p1, P2, p3) € R*. Every Matrix in H is of the form

Xy
[g X] (11.125)

where x = po + ip1 and y = py + ip3. The matrices in H are called quaternions.
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Definition 19 The null quaternion generated by [0,0,0,0] € R* is denoted by 0 . Quaternions of the form
p1i + p2j + psk are called pure quaternions. The set of pure quaternions is denoted by H,.

With the definition of H as a set of complex matrices, It can be show that H is a real vector space of
dimension 4 with basis ¢, , i, j, k. Furthermore, with the matrix product, H is a real algebra.

Representation of quaternions Thanks to the equations (11.124), (11.124) and (11.125), we see that
there are several manner to represent a quaternion p € H. It can be represented as a complex ma-
trix as in (11.125). It can also be represented as a vector in R* , p = [po, p1, p2, p3] with the isomor-
phism (11.124). In other words, H is isomorphic to R*. The first element py can also be viewed as a
scalar and three last ones as a vector in R® denoted by 7 = [p1, p2, p3), and in that case, H is viewed as
R x R®. The quaternion can be written as p = (po, 7).

Quaternion product The quaternion product denoted by p - g for p,q € H; is naturally defined as the
product of complex matrices. With its representation in R x R, the quaternion product is defined by

g = %Pf’%:?i N 11.126
pea [PO‘%L%PJFPX‘J ( )

Since the product is a matrix product, it is not communicative, but it is associative. The identity element
for the quaternion product is

e= [(1) ﬂ = (1,0). (11.127)
Let us note that N
(0,7)-(0, (9)) =—(0,7)-(0, 7). (11.128)

The quaternion multiplication can also be represented as a matrix operation in R**%. Indeed, we have

qoPo —4q1P1 — q2P2 — 43pP3
qop1 +491pP0 — 92pP3 +43p2 (11.129)
qop2 +4q1p3 + 9200 — 93P1
qops — q1pP2 + q2p1 +4q3po

p-q9=

that can be represented as

Po —P1 —P2 —P3| |90

,_|PL P0o —P3 P2 Ty ._, 11.130
P A= ps po -pi| | [p-la ( )

ps —p2 pP1 Po q3

or
qgo —q1 —492 —43| |Po

om0 e —ef ;| 11.131
A T I [q9]p ( )

43 42 —41 4o P3

Adjoint quaternion, inverse and norm The adjoint quaternion of p is denoted by

r= [ 'y 4 - B _xy] = [po, =p1,—P2, —p3] = (po, = P) (11.132)

We note that
pep = {x ﬂ {x _xy} —det({ g y})e— (x%+yPle= (P +pi+p3+pdde  (11139)
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The norm of a quaternion is given by |p|> = p'p = p2 + p? + p3 + p3. In particular, we have
p-p* = p*-p = |p|?. This allows to define the reciprocal of a non zero quaternion by

p = izp* (11.134)
Pl
A quaternion p is said to be unit if [p| = 1.

Unit quaternion and rotation For two vectors x € R3 and ¥’ € R3, we define the quaternion py =
(0,x) € Hp and p,y = (0,x") € Hy. For a given unit quaternion p, the transformation

py =P px-p* (11.135)
defines a rotation R such that x = Rx given by
x' = (p5 — P F)x +2po(F x %) +2(F " x)p = Rx (11.136)

The rotation matrix may be computed as

1-2p3—2p3  2(p1p2 = Pspy) 2(p1ps + p2po)
R=®(p) = |2(p1p2+p3po) 1-2p1—2p3 2(p2p3— pipo) (11.137)
2(p1ps — p2po)  2(paps +pipo) 1 —2pt—2p3

Computation of the time derivative of a unit quaternion associated with a rotation. The derivation
with respect to time can obtained as follows. The rotation transformation for a unit quaternion is given
by

po(t) =p(t) - px-p(t) = p(t) - px-p (1) (11.138)
and can be derived as
pu(t) = pt)-px-p () +p(t) - px-p(H)
= B p ) pult) + et p(t) () (11:139)

From p(t) - p~1(t) = e, we get
p(&)-p () +ppi(H) =0 (11.140)

so (11.138) can be rewritten
pu(t) = p(t) - p 1 (8) - pu(t) — pur(t) - p(8) - p (1) (11.141)
The scalar part of p(t) - p~*(£) is (p(t) - p~"(t))o = popo + P p. Since p is a unit quaternion, we have

4

(PP =0=p"p+p"p=2(popo + FT7). (11.142)

lpl =1 =

Therefore, the scalar part (p(t) - p~1(t))o = 0. The quaternion product p(t) - p~1(t) and py(t) is a
product of quaternions with zero scalar part (see (11.128)), so we have

pu(t) =2p(t) - p~ (1) - pr (). (11.143)

In terms of vector of R?, this corresponds to

() =2p(t) - pL(t) x ¥/(t). (11.144)

get

[

@(t) =2p(t) - pL(t) (11.145)
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or equivalently

p(0)-p 1) = (0, 40) (11.146)
Finally, we can conclude that
p(6) = 0, A0 po) (11147
Since w(t) = R(t)Q(t), we have
(0,(t)) = (0, R(HQ(H)) = p(t) - (0, (1) - p(t) = p(t) - (0, Q(t)) - p~(¢) (11.148)
and then 1
pt) = 5p(1) - (0,Q(1). (11.149)
The time derivation is compactly written
p=op(0,5) = plpg =¥(1) (11150

and using the matrix representation of product of quaternion we get

—P1 —P2 —P3
_ | Po —P3 P2
v = 11.151
(p) p3 Po —P ( )
—P2 P Po

The relation (11.149) can be also inverted by writing
(0,0(1)) = 2p~ (1) - p(1) (11152)
Using again matrix representation of product of quaternion, we get

—p2 —ps po P t) =2¥(p) p(t) (11.153)
-ps P2 —P1 Po

Q) =2p 1(t) - p(t) =2

—P1  Po ps  —p2
p(t)

Note that we have W' (p)¥(p) = Iing and ¥(p)¥ ' (p) = I3x3

Lie group structure of unit quaternions. In terms of complex matrices, an unit quaternion p satisfies

det ({_"y ZD =1 (11.154)

The set of all unit quaternions that we denote H; is the set of unitary matrices of determinant equal to
1. From (11.133), we get that
p-pr=e (11.155)

It implies that the set H; is the set of special unitary complex matrices. The set is a Lie group usually

~

denoted as SU(2). Since we used multiple representation of a quaternion, we continue to use H; =
SU(2) as a notation but with the Lie group structure implied by SU(2).
Let us compute the tangent vector ata point p € Hj. Letg(t) be asmooth curveg(-) : t € R — g(t) €

Hj in Hj such that q(O) = p. Since q(t) € Hj, we have |g(t)| = 1 and then %|q(t)| = 2(gq0(0)40(0) +

77 (0)4(0)) = 0. Att = 0, we get
2(poag + pld) = 0. (11.156)

This relation imposes that the quaternions 2p* -2 € Hj and 2a - p* € Hj, that is, have to be pure
quaternions. Therefore, it exists w € R and Q € R? such that

(0,Q) =2p* -a (11.157)
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and
(0, w) =2a-p* (11.158)

In other terms, the tangent vector spaces at p € H; can be represented as a left representation
Q 3
T,Hy={ala=p- (O,E),Q € R’} (11.159)

or a right representation
TyHy ={a|a= (0,%)~P,w€R3} (11.160)

At p = e, we get the Lie algebra defined by

hlZEHr:U:%Q%LQGR% (11.161)

equipped with the Lie bracket given by the commutator
lpal=p-q9-q-p (11.162)
. . Q r
We can easily verify that for a = (0, ?), b= (0, 5) € b1, we have

@8] =(0,5)(0,5) = (0,2)(0,5) = (0,2 ) ey (11.163)

o~

As for 50(3), the Lie algebra by is isomorphic to R? thanks to the operator (-) : R®> — h; and defined by

=~ ~ Q
():Q—Q= (0,5) (11.164)
With this operator, the Lie Bracket can be written
QT =QxT (11.165)

A special (right) action of Lie Group G on a manifold M. Let us come back to the representation of
TpH1 givenin (11.159). It is clear it can expressed with a representation that relies on by

TRSO(B) ={a=p-Q|Q € hi}. (11.166)

With (11.90), we see that there is a linear map that relates T, H; to h;. This linear map defines a vector
field. A special group action is defined by the left translation map for a point p € H;

L, : H —H

11.167
g Lp(q) =p-q (1167
which is diffeomorphism on Hj. In that case, we identify the manifold and the group. So, L, can be
viewed as a left or a right group action. We choose a right action. For our application where G = M =

Hyand A'(p,q) = Lp(q) =p-q, we get

d

X@() = SL6w)| =

= p-a®)|  =p-4(0) = p-4(0) € X(M) (11.168)

t=0

t=0

for a smooth curve q(t) in Hj. Since q(-) is a smooth curve in Hy, 4(0) is a tangent vector at the point

g(0) = I, that is an element 4 = Q € bh; defined by the relation (11.44). Therefore, the vector field in
(11.168) is a tangent vector field and we get

p(t) = AL(a)(p(t) = p(t) - O (11.169)
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Exponential map expq : h; — H; We can directly apply Theorem 1 and we get that the solution of

{i%z_ gz)(p(t)) =p(t)-O 11170)
p(t) = poexpq(tQ) (11.171)

The exponential mapping expq : h1 — Hj can also be defined as expq(Q) = g(1) where g(t) satisfies
the differential equation

g =q(t)-Q, q(0) =e. (11.172)
Using the quaternion product, the exponential map can be expressed as

expq(tQ) = Y 5 (11.173)
k=0 :

since it is a solution of (11.170). A simple computation allows to check this claim:
d equ (tQ) Z Ktk 1 Z L fl — expq(tQ) - Q. (11.174)
A closed form relation for the form the quaternion exponential can also be found by noting that

A2 0\> A3 A
OP=—(5) eand0®=-(7) Q. (11.175)

A simple expansion of (11.173) at t = 1 equals

N 0 ﬁ k
expq(Q) = ), ( k,)
o 2k k 2k+1
> i (3) Lo ()
- 7) ex (11.176)
kgb (2k)! \ 2 , kg’ (2k+1)
= cos(g)e + Sme(j)fl
2
that is 0 0O
expq(Q) = (cos(=),sin(=)—). (11.177)
2 2°0
Adjoint representation In the case of Hj, the definition of the operator Ad gives
Ady(Q) =p-Qp* (11.178)
and then mapping ad 5 (T) is defined by
adg(N) =QF -TO = [Q,F]=QxT. (11.179)

Using the isomorphism between b; and R®, we can use the the mapping adq (T) : R® x R® — R given
by (11.107) to get

—

ads(T) = O xT = ado(N) = OF (11.180)
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Differential of the exponential map dexpq The differential of the exponential mapping, denoted by
dexpq is defined as the right trivialized” tangent of the exponential map

(1)) = dequﬁ(t)(d(;ft))equ(ﬁ(t)) (11.181) {eq:71}

o))

d
& (expa(

~

An explicit expression of dexp g (I') can also be developed either by developing the expansion and (11.165).

3

1 ~ —
dexpag (N = Y. 3y, ad (T) = T(Q)T (11.182) {eq:168}
k=0 ’

Remark 5 Note that the time derivative in R* is not differential mapping. The standard time derivative of expq
in the expression (11.177) gives

%equ(F(t)) _ (_Smg(e) arr, Smg(m I+ QCOS(G)QQ sin(9) 1o (11.183) {eq:171}

that can be expressed in R* by
%equ(?(t)) = Vequ(ﬁ)f)_ (11.184) {eq:175}

with
_ sin(0) ol
O) — 9 .
Vexpq(Q) = sin(0) . 0.cos(6) — sin(0) oTa (11.185) {eq:176}
0 63
Clearly, we have

Vexpq(Q) # dexpqg (11.186) {eq:177}

Directional derivative and Jacobians of functions of a quaternion

11.4.1 Redaction note V. ACARY
experimental

Let f : H; — R be a mapping from the group to R>. The directional derivative of f in the direction
Q € by at p € H; is defined by

dfp(ﬁ) = %f(p : equ(tﬁ))‘ (11.187) {eq:139%}

As a first simple example let us choose f(p) = p - px - p* for a given x € R>, we get

N . d = =
DId-Q(p) = (Q'f)(p) = P expq(tQ)-px-(p-expq(tQ))”
y =0 y (11.188) {eq:142}
= p- 3 expq(tQ)|  px-ptHppac(pe o expq(tQ)] )
We have form the definition of the time derivative of the exponential
d N . N
i o) = dopag (@ expatd)] RTORR
= dequﬁ(Q)
Then, the directional derivative can be written
. 0 — . ~ 0 . . * . . ~ 0O * . *
DId-O(p) P dequQ(QA) PP *P P (dequ%( )i P (11.190)  {eq:146}
= P (dexpqqn(Q) - px+ px - (dexpqq (Q))7) - p
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11.5 Newton-Euler equation in quaternion form

Computation of T for unit quaternion The operator T(q) is directly obtained as

2I3x3 03x3
1 —P1 —P2 —P3
T@@) =5 |0x3 P0 —P3 P2 (11.191)
p3 Po —P1
—P2 P Po

Redaction note V. ACARY
todo :

e computation of the directional derivative of R(Q) =exp(Q) in the direction Q, to
get T(Q)

Quaternion representation If the Lie group is described by unit quaternion, we get
SO(3) ={p = (po, ) € R* | [p| = 1} (11.192)

with the composition law p; - p; given by the quaternion product.
Note that the concept of exponential map for Lie group that are not parameterized by matrices is
also possible.

11.5.1 Mechanical systems with bilateral and unilateral constraints

Let us consider that the system (11.20) is subjected to m constraints, with m, holonomic bilateral con-
straints
h*(q) =0, € £ C N, |E] = m,, (11.193)

and m; unilateral constraints
g%(q) >0, €ZC N, |Z| =m;. (11.194)

Let us denote as J;(q) = V;h“(q) the Jacobian matrix of the bilateral constraint 1% (q) with respect to g
and as | ‘g"N (9) respectively for g5 (g) . The bilateral constraints at the velocity level can be obtained as:

0="h*(q) = J{(q)d = (@) T(q)v = H*(q)v, «a€&. (11.195)

By duality and introducing a Lagrange multiplier A%, & € &£, the constraint generates a force applied
to the body equal to H* ' (q)A%. For the unilateral constraints, a Lagrange multiplier AY, & € Z is also
associated and the constraints at the velocity level can also be derived as

0<¢¥(q) =g (9)d =T (9)T(9)v, if gi(q) =0, a€L (11.196)

Again, the force applied to the body is given by (g, (7)T(q)) " AX. Nevertheless, there is no reason that
AN = riand uy = Jg (q)T(q)vif the g, is not chosen as the signed distance (the gap function). This is the
reason why we prefer directly define the normal and the tangential local relative velocity with respect
to the twist vector as

ul = Gi(q)v, uf:=G¥4q)v, acl, (11.197)

and the associated force as G¥ ' (q)r% and G* " (q)r%. For the sake of simplicity, we use the notation u :
G*(q)v and its associated total force generated by the contact a as G (q)r* :== G (q)r% + G* ' (q)r

[
T
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The complete system of equation of motion can finally be written as

q="T(q)o,
Mo = F(t,q,0) + H (9)A+G ' (q)r,
H%(q)v =0, act
=0 ifgila) >0, (11.198)
K¥* su*lr* e K% ifgd(q) =0, ael
udt = —eud, if g%(9) = 0and u¥~ <0,

where the definition of the variables A € R™,r € R®" and the operators H, G are extended to collect
all the variables for each constraints.

Note that all the constraints are written at the velocity integrators. Another strong advantage is the
straightforward introduction of the contact dissipation processes that are naturally written at the veloc-
ity level such as the Newton impact law and the Coulomb friction. Indeed, in Mechanics, dissipation
processes are always given in terms of rates of changes, or if we prefer, in terms of velocities.

Siconos Notation In the siconos notation, we have for the applied torques on the system the following
decomposition

F(t q U) = f(t/ xg/ Ugr R/ Q) — fgxt(t) _fint(xg/ ’()g, R, Q)
AT 10 % 04 M(t, g, 08, R, Q) ) 7\ =My () + Mo (1) ~ My (3,0 R, ©) )

(11.199)
with
Mgy == (Q x IQ) (11.200)
In the siconos notation, we have for the relation
C=J%q) CT=]%q)T(q) (11.201)
11.6 Time integration scheme in scheme
11.6.1 Moreau-Jean scheme based on a 6-method
The complete Moreau-Jean scheme based on a 8-method is written as follows
Ges1 = Gk + 1T (qkr0) V10
M(vg1 — k) = hF(tiye, Giro, ko) = H' (g541) Qi1 + G (k1) Prya,
H*(qx11)0x41 =0 } a€é (11.202)
Py =0, } a g 1"
K% 5@, LPS, ek | ael”
where TV is the set of forecast constraints, that may be evaluated as
v — h o
TV ={a| ¥ =g+ SUN < 0}. (11.203)
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11.6.2 Semi-explicit version Moreau—Jean scheme based on a 6-method

Tk+1 = G + T (qk) vk 1o

M(0k 1 — vk) — hF (t, G o) = H' (90) Qi1 + G T (1) Prsa,
H*(g1)041 = 0 joace (11.204
P, =0, }oagT
K% 5@, 1P, ek | ael”

In this version, the new velocity vy 1 can be computed explicitly, assuming that the inverse of M is
easily written, as

Ukp1 = Ok + MTRE (e, e, o) + MU (H T (95) Qi1 + G () Pes1) (11.205)

11.6.3 Nearly implicit version Moreau-Jean scheme based on a 8-method imple-
mented in siconos

A first simplification is made considering a given value of g, in T(), H() and G() denoted by §i. This
limits the computation of the Jacobians of this operators with respect to 4.

Gkv1 = Gk + T () vero

M (041 — vk) = BOF (ty1, Gicr1, Oks1) — h(1 = O)F (b, g, o) = H' (3%) Qe + G (@) P,
H*(qx)vk1 =0 } a€ef
Py =0, } a g I"
K% 5@, LPS, ek | ael”

(11.206)
The nonlinear residu is defined as

R(v) = M(v — v¢) — hOF (t11,q(0),0) — h(1 — 0)F(ty, g, v%) — H' (7)) Qes1 — G () Peyn - (11.207)

with
g(v) = g + hT(Gx))((1 — 0)vg + 60). (11.208)

At each time step, we have to solve
R(vg41) =0 (11.209)

together with the constraints.
Let us write a linearization of the problem to design a Newton procedure:

Vo R(vf1) (0EH = v ) = —R(0f4)- (11.210)
The computation of V, R (v} 1) is as follows
Vi R(v) = M — hoV,F(tgi1,q(0),0) (11.211)
with

VUF(tk+1/ ‘1(0)/ 'U) = DZF(tk+l/ Q(U)IU)VMI(U) =+ D3F(tk+1/ q(U),Z)) (11 212)
= hOD:F(txt1,q(v), 0)T(qk) + D3F(tkia,9(v),0) ‘

where D; denotes the derivation with respect the i variable. The complete Jacobian is then given by

Vi R(v) = M — hOD3F(tyi1,q(v),v) — h20?DyF(ti1,q(v), 0) T (k) (11.213)
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In siconos, we ask the user to provide the functions D3F(tx,1,4q,v) and DyF(tgy1,4,0).

Let us denote by W the inverse of Jacobian of the residu,
WT = (M = hOD3F (te11,q(0),0) = H*0*DaF (te11,q(0),0)T(d6))
and by R fy.,(v) the free residu,
R free(v) = M(v — vg) — hOF (t11,q(0),v) — h(1 — O)F(ty, gk, vk).-

The linear equation 11.210 that we have to solve is equivalent to

opt = 0f ) = WRpee(0f 1) + WHT () QFH + WG T (70) P}

We define v, as
Ufree = UIZ+1 - WRfree(vlerl)
The local velocity at contact can be written
ity = Ga0) W + WH (7)QEET + WG (70) P

and for the equality constraints
uify = H(@@o)[0f, + WHT (@)QET + WG (90 PG

Finally, we get a linear relation between u;j;}rl and the multiplier

choices for 7, Two choices are possible for gy
Lk = gk
2.k = G4

11.6.1 Redaction note V. ACARY
todo list:

e add the projection step for the unit quaternion

e describe the computation of H and G that can be hybrid

11.6.4 Computation of the Jacobian in special case

(11.214)

(11.215)

(11.216)

(11.217)

(11.218)

(11.219)

(11.220)

Moment of gyroscopic forces Let us denote by the basis vector ¢; given the i column of the identity

matrix [3x3. The Jacobian of Mg, is given by

VMg (Q) = VE(Q x 1Q) = [ x IQ + Q x Tey,i = 1,2, 3]
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Linear internal wrench If the internal wrench is given by

Fi(t,q,0) = m’?ffa qq' ”v))} =Cv+Kg, CeR®*® Ke R (11.222) {eq:113}
m Y7
we get
VoF(tei1,q(v),0) = hOKT(Gi) +C

VJR(U) — M—hoC — hZQZKT(qk) (11.223)  {eq:114}

External moment given in the inertial frame If the external moment denoted by .y (t) is expressed
in inertial frame, we have
Mext(q,1) = RImoys (£) = O (p)ment (t) (11.224) {eq:115}

In that case, M.yt (g, t) appears as a function g and we need to compute its Jacobian w.r.t g. This compu-
tation needs the computation of

V,,Mm(q,t) = Vpd)(p)mext(t) (11.225) {eq:116}

Let us compute first

(1 —2p3 — 2p3)Mext 1 + 2(p1p2 — P3P0)Mext 2 + 2(P1P3 + P2P0) Mext 3
O (p)mext(t) = |2(p1p2 + papo)Mexty + (1 — 297 — 2p3)Mexs o + 2(paps — P1P0) Mext 3 (11.226) {eq:117}
2(p1ps — P2po)Mext1 + 2(paps + P1po) e + (1 — 2pF — 2p3)Mexs 3

Then we get

V@ (p)mext(t) =
_2p3mext,2 + ZPZmext,S 2P2mext,2 + ZPSmext,S _4P2mext,1 +2p1 Mext,2 + Zpomext,B _3p3mext,1 - zpomext,Z
2p3mext,1 - zplmext,S 2p2mext,1 - 4plmext,2 - 2plme‘xt,3
(11.227)  {eq:118}

11.6.5 Siconos implementation

The expression: R free (Vg 1) = M(v — vg) — hOF (tey 1, 9(v511), 0k41) — (1 — 0)F(tx, qx, vk ) is computed
in MoreauJeanOSI: : computeResidu() and saved in ds->workspace (DynamicalSystem: :freeresidu)
. T/ - T/= .
The expression: R(0F,,) = Rree(0F;1) — (1 — 0)F(t, 45, 06) — H' (3)Qis1 — G (7)Pes1 s com-
puted in MoreauJeanOSI: : computeResidu() and saved in ds->workspace (DynamicalSystem: : free).

11.6.2 Redaction note V. ACARY
really a bad name for the buffer ds->workspace(DynamicalSystem::free). Why we are chosing
this name ? to save some memory 7

The expression: vf,, = U5, 1 — WR (v, 1) is compute in MoreauJean0SI: : computeFreeState ()
and saved in d->workspace (DynamicalSystem: :free).

The computation: of [ = v, + WH ' (q;) Qrt+ WGT (qx) P is done in MoreauJean0SI: :updateState
and stored in d->twist ().
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Chapter 12

NewtonEulerR: computation of V,H

12.0.1 Gradient computation, case of NewtonEuler with quaternion

In the section, g is the quaternion of the dynamical system.

T
Figure 12.1: Impact of one DS. {figCase}

The normal vector N is view as a constant.

fl(q):Pc(ﬁ)
‘Vh(q)(59) = lim (h(q +edq) — h(q)).N
e—0 e
ist i : qg+éq
Vh consist in computing P. — P.(q).
GP(q) = qGoPo “q
q+6q . 1
cor = (q+89)GoPy “(q+ 6q) 7——=5
Gyag) = @+ 0GR 0+ o0 g
1
= (q+5q) “qGP(9)q *(q + 8q) 15
(q+6q) “‘gGP(q)q “(q Q)llq%ql\z

76
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= ((1,0,0,0) + &9 °q)GP(q)((1,0,0,0) + ¢ “5q)

g+ 5q|2
1
= GP(q) + 6 “gGP(q) + GP(q)q °69 + 0(89)* ———
q) + 89 “9GP(q (9)7 6 +0(80) 5
So, because G is independant of g:
q+9q q+99 c c 2

P(——_) — P(q) = qGP — GP(q) = 54 °gGP(q) + GP(q)q 59+ 0(59)> + GP(g) ————
(o aqq) ~ 7@ = 4GP ay) — GPla) = 89 79GP(q) + GP(g)q"8q +0(5q) G P

For the directional derivation, we chose 6 = € * (1,0, 0, 0). using a equivalent to 1T e

P(;84) — P(q)
Tim — 1721 v “9GP(q) + GP(q)q — 29;GP(q)

e—0 €
For the directional derivation, we chose 6g = €% (0,1,0,0) = e xe;

P(;80) — P(q)
lim — 1] L =¢; “qGP(q) — GP(q)qe; — 2q;GP(q)

e—0 €

Application to the NewtonEulerRImpact:

H:R” SR
V,H e MY
Ny
Ny
N,
V,H = ( ZqGP(q) + GP(q)q —290GP(q)).N
(e2°qGP(q) — GP(q)ge2 —291GP(q)).N
(e3 °qGP(q) — GP(q)ges — 292GP(q)).N
(e4 “qGP(q) — GP(q)ges — 293GP(q)).N
12.0.2 Ball case
It is the case where GP = —N: for e2:
(0,1,0,0).(q0, —p).(0, —N) =

((é)%(?)-(o)) :
(e ((5) () v)*N)—

(0, —N).(qo,g).(O,l,0,0) =
(N.p, —qoN — N % p).(0,1,0,0) =

1 1
(?,(N.p) ( 8 ) +(8)*(qON+N*p)) =
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1 1 1
(?,(N.p)<8)+q0(8)*N+<8>*(N*p))

sub then and get the resulting vector.N:

1 1
-p, N—-Np ( 0>+()*N—(0)*(N*p)
) 0 0 P

1
—px—NxN.p—i—O—(( 0 ) x (N*p)).N =

0
using a * (b*c) = b(a.c) — c(a.b) leads to
—q1 — NxN.p — (1 N = Ny p).N =
—q1 — NxN.p —q1 + NxN.p = =2

forel = (1,0,0,0):
(40, —P)-(0,—N) = (2, =qoN + p * N)

(0,=N).(90,p) = (2, —qoN — px N)
So

12.0.3 Case FC3D: using the local frame and momentum

mvV B Fect + R
I0+0QI1Q )~ \ Mextg, + (R*PG)g,,

with * vectoriel product, R reaction in the globla frame. P the point of contact. r is the reaction in the

— Mt — Hh-
local frame. MR, toR,;, = MRabstORobjr = R with:

nx tHx ftrx
Mgctor,,, = | ny tiy ty

nz tz trz

we have :
R B Is .
(R*PG)ry, ) = \ Mr,ut0r,, NeG )
I3
= ( MRabstORDbePG ) 'MRob/toRnbsr
0 PG. —PG,
Npg = —PG, 0 PG,
PG, —PGx 0
that is:

. mV — MRctORabs r
10O+ QIO MR, toR 1, NPGMRctoR
So jachqt = MN
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12.0.4 Case FC3D: using the local frame local velocities

L

Raps

Figure 12.2: Two objects colliding. {figCase}

We are looking for an operator named CT such that:

v VG1 Ry
N O Ropj1
Ve = Vr =CT ]
V ch Rubs
5 / Re QR

obj2

Ve =Vgir,, +w1%G1PR, — (VG2 r,, T w2%G1PR,, )

where wy and w, are given in R,;,;. We note MRnbj1 toR,,, the matrice converting the object 1 coordinate
to the absolute coordinate. We note Ngp the matrice such that wy * GiP g, = Ngcw;. Endly, we note
MR,,.tor converting the absolute coordinate to the R¢ frame. we get:

CT = MR,,,,StoRC< I NGchRobjltORabs —1Is 7NG2CMRobj2t0Rabs )

12.0.4.a Expression of M Ropj1toR

abs

Using quaternion, we get :

1 0 0
MRubjltoRnbs = q 0 Cq q 1 Cq q 0 Cq (12.1) {eq:newton_Mobjt
0 0 1
12.0.4.b Expression of N;
0 GG —GiCy

GiC, —GiCx 0
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Chapter 13

Projection On constraints

13.0.1 Velocity formulation

The first step consists in doing a velocity formulation of the system:

Mo = Emt+‘BA
q=To 13.1
v = h(q) 13-

NSLAW(y, A, ...)

The constraint § = Twv is suffisiant to keep a normal quaternion. Because of the speed formulation,
h(q) could violate the NSLAW. A solution coul be to add a formulation in position. We must underline
that the constraints | Q |= 1 is implicit in this system. Endeed, the direction § = Tv is tangential to the
sphere.

13.0.2 Posion formulation

It consists in writting a position formulation on the system:

h(g) = ( gé(&)) ) (132)

13.0.2.a Approach using q

We are looking for g1 from go:

g1 =qo0+ VHIA;+ VHEAE (13.3)
Assume that 1(gg) doesn’t satisfy the constraints, ie HI(qo) # 0 or HE(gg) # 0). Linearize h leads to:

0 < HI(qo) + V' HI(VHIA; + VHEAE)LA; > 0 (13.4)

0 = HE(qo) + V' HE(VHIA[ + VHEAE) (13.5)
The getting system could be written has a MLCP:

C > h(qo) + V'h(VhA), A € C* (13.6)

In the case of a quaternion Q for the rotation representation, it is noteworthy that this system doesn’t
deal with the constraints | Q |= 1. Thus, the direction (g1, go) can be normal to this constraint, in that
case this approach doesn’t work. (It happens in practice) The solution that consists in normaliaed q after
this formulation is not convenient because, it could be incompatible with | Q |= 1. A better approach is
to add this constraint.
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The constraint | Q |= 1 in the system HE:

The formulation described above can be done.

13.0.2.b Approach using V
It consists in building the OSNSP using CT instead of C.

h(q1) = h(qo) + V'Hsq
ie:

h(q1) = h(qo) + V' HTV

We are looking for g; such that:
q1—4qo = VHA

We have

sq=TV, 'Tsq="TTV, ('TT)'iTsq=V

ie
h(q1) = h(qo) +' VghT("TT) " TV hA

With C =" V,h leading to the prolem:

K 3 h(qo) +CT (*!TT) " {(CT)A € K*
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Chapter 14

Simulation of a Cam Follower System

Main Contributors: Mario di Bernardo, Gustavo Osorio, Stefania Santini
University of Naples Federico II, Italy.

The free body dynamics can be described by a linear second order system. An external input is
considered acting directly on the follower. This input is a non linear forcing component coming from the
valve. The follower motion is constrained to a phase space region bounded by the cam position. The non
conservative Newton restitution law is used for the computation of the post impact velocity. The cam is
assumed to be massive therefore only rotational displacement is allowed. Under these assumptions, the
free body dynamics of the follower can be described by

d?u(t) du(t)
TR T

where 11, ¢ and « are constant parameters for the follower mass, friction viscous damping and spring

Fru(t) = folt), if u(t) > c(b). (14.1)

stiffness respectively. The state of the follower is given by the position u(t) and velocity v(t) = d%l The

external forcing is given by f,(t). The cam angular position determines c(t) that defines the holonomic
(i.e. constraint only on the position) rheonomic (i.e. time varying) constraint. The dynamic behavior
when impacts occurs (i.e. u(t) = c(t)) is modelled via Newton’s impact law that in this case is given by

o(tt) = % —7r (v(t_) — ﬁ) =(1 —|—r)% —ro(t7), if u(t) =c(t). (14.2)

dc
where v(t7) and v(t") are the post and pre impact velocities respectively, = is the velocity vector of

the cam at the contact point with the follower, and r € [0, 1] is the restitution coefficient to model from
plastic to elastic impacts. In Figure 14.1 is presented the schematic diagram of the physical cam-follower

system. In Figure 14.1.a for t = 0, 14.1.b for t = 3, and 14.1.c the profile of the constraint position éc(t),
2

dc d-c
velocity T (t) and acceleration T (t). It is possible to visualize the follower displacement as a function
of the cam position. It is also important to notice that different types of cams and followers profiles are

used in practical applications.

14.0.1 The cam-follower as a Lagrangian NSDS.

It is possible to completely describe the cam-follower system as a driven impact oscillator into the frame-
work of Lagrangian NSDS using a translation in space. Setting 71(t) = u(t) —c(t) and 9(t) = v(t) —dc/dt,
then equations (14.1) and (14.2) can be expressed as (the argument ¢ will not be explicitly written)

A0 _da . d2c  _dc B o
uﬁhz+5[ﬁ+Ku—fv—<utﬁz+C[ﬁ+Kc> = f, if 4>0. (14.3)

ot = —ro7, if 1=0. (14.4)
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éc
K ¢ B T 27
N
Fy @ JARRN
n Follower dt p
i \ //
%
— [
p e I
dr? \
t=p
(b) (c)

Figure 14.1: Cam-Shaft’s schematics. (a) t=0. (b) t=3. (c) Constraint position éc(t), velocity %(t) and

d%c

acceleration —— (£2).
dt {Fig:cam-shaft}

Using the framework presented in [2] we have that the equation of motion of a Lagrangian system may
be stated as follows :

M(q)§+Q(q,4) + F(4,9,t) = Fext(t) + R (145) {eq:lagl}

From the (14.3) we can derive all of the terms which define a Lagrangian NSDS. In our case the model
is completely linear:

g = []
M(q) = [n]
Qg.4) = [0] (14.6) {eq:lag2}
Fg.q9) = [Cla+[«x]q
Ft = [ f]
The unilateral constraint requires that:
i1>0
S0 we can obtain
y = Hlg+b (14.7) {eq:constr}
HY = [1]
b = 0
In the same way, the reaction force due to the constraint is written as follows:
R =HA, withH=[1 |
The unilataral contact law may be formulated as follow:
0<ylA>0 (14.8) {eq:119}
and the Newton’s impact law:
Ify=0,9y"=—ry" (14.9) {eq:120}
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14.0.2 Implementation in the platform

For the simulation of the cam follower system follow the steps

1. Move to the working directory sample/CamFollower

$cd sample/CamFollower

2. Clean the directory form binary files using the siconos command

$siconos -c

3. Compile the file CamFollowerNoXml. cpp in the sample folder (See the code at the end of the section)
$siconos CamFollowerNoXml.cpp

4. Change the simulation parameters (i.e. Follower initial position and velocity, cam initial angle,
simulations time, cam rotational speed in rpm, etc.) in the file CamFollowerNoXml . cpp.

Next we present the sample code for the CamFollowerNoXml . cpp file:

int main(int argc, char* argv(]) {

/] ======== Creation of the model =============

// User-defined main parameters

double rpm=35§;

double phi_0=0;

unsigned int dsNumber = 1; // the Follower and the ground

unsigned int nDof = 1; // degrees of freedom for the Follower
double t0 = 0; // initial computation time

double T = 5; // final computation time

double h = 0.0001; // time step

int Kplot;

Kplot=(int)(Tplot/h);

double position_init = 0.4; // initial position for lowest bead.
double velocity_init = 0.4; // initial velocity for lowest bead.

// ======= Dynamical systems =========

vector<DynamicalSystem *> vectorDS; // the list of DS
vectorDS.resize(dsNumber,NULL);

SiconosMatrix *Mass, *K, *C; // mass/rigidity /viscosity
Mass = new SiconosMatrix(nDofnDof);

(*Mass)(0,0) = 1.221;

K = new SiconosMatrix(nDof nDof);

(*K)(0,0) = 1430.8;

C = new SiconosMatrix(nDof,nDof);

(*C)(0,0) =0;

// Initial positions and velocities
vector<SimpleVector *> position_0;
vector<SimpleVector *> velocity_0;
position_0.resize(dsNumber,NULL);
velocity_0.resize(dsNumber,NULL);
position_0[0] = new SimpleVector(nDof);
velocity_0[0] = new SimpleVector(nDof);
(*(position_0[0]))(0) = position_init;
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(*(velocity_0[0]))(0) = velocity_init;

vectorDS[0] =
new LagrangianLinearTIDS(0,nDof,*(position_0[0]),*(velocity_0[0]),*Mass,*K,*C);

static_cast<LagrangianDS*>(vectorDS[0])
->setComputeFExtFunction("FollowerPlugin.so", "FollowerFExt");

// Example to set a list of parameters in FExt function.
// 1 - Create a simple vector that contains the required parameters.

// Here we set two parameters, the DS number.
SimpleVector * param = new SimpleVector(2);

(*param)(0)=rpm;
(*param)(1)=phi_0;

// 2 - Assign this param to the function FExt
static_cast<LagrangianDS*>(vectorDS[0])->setParametersListPtr(param,2);

// 2 corresponds to the position of FExt in the stl vector of possible parameters.
// 0is mass, 1 FInt.

// Now the cam rotational velocity in rpms will be available in FExt plugin.

vector<Interaction*> interactionVector;
interactionVector.resize(1,NULL);
vector<DynamicalSystem*> *dsConcerned =

new vector<DynamicalSystem*>(dsNumber);

// ===== Non Smooth Law =====

double e = 0.8;

/ / Interaction Follower-floor

SiconosMatrix *H = new SiconosMatrix(1,nDof);

(*H)(0,0) = 1.0;

NonSmoothLaw * nslaw = new NewtonImpactLawNSL(e);
Relation * relation = new LagrangianLinearR(*H);
(*dsConcerned)[0] = vectorDS[0];

interactionVector[0] = new Interaction("Follower-Ground",0,1, dsConcerned);
interactionVector[0]->setRelationPtr(relation);
interactionVector[0]->setNonSmoothLawPtr(nslaw);

// ===== Interactions =====

// ===== NonSmoothDynamicalSystem =====
bool isBVP =0;
NonSmoothDynamicalSystem * nsds =
new NonSmoothDynamicalSystem(isBVP);

// Set DS of this NonSmoothDynamicalSystem
nsds->setDynamicalSystems(vectorDS);

// Set interactions of the NonSmoothDynamicalSystem
nsds->setInteractions(interactionVector);
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Model * Follower = new Model(t0,T);
// set NonSmoothDynamicalSystem of this model
Follower->setNonSmoothDynamicalSystemPtr(nsds);

double theta = 0.5; // theta for Moreau integrator
string solverName = "QP" ;

Strategy* S = new TimeStepping(Follower);

// — Time discretisation —
TimeDiscretisation * t = new TimeDiscretisation(h,S);

// — OneStepIntegrators —
vector<OneSteplntegrator *> vOSI;
vOSl.resize(dsNumber, NULL);

vOSI[0] = new Moreau(t,vectorDS[0],theta);
S->setOneStepIntegrators(vOSI);

// — OneStepNsProblem —
OneStepNSProblem * osnspb = new LCP(S,solverName,101, 0.0001,"max",0.6);
S->setOneStepNSProblemPtr(osnspb); // set OneStepNSProblem of the strategy

cout « "=== End of model loading === " « endl;
// ==== End of model definition======

// — Strategy initialization —
S->initialize();
cout «"End of strategy initialisation" « endl;

int k = t->getK(); // Current step
int N = t->getNSteps(); // Number of time steps

// — Get the values to be plotted —
// ->saved in a matrix dataPlot
unsigned int outputSize = §;

SiconosMatrix DataPlot(Kplot+1,outputSize );
// For the initial time step:

// time
DataPlot(k,0) = k*t->getH();

DataPlot(k,1) = static_cast<LagrangianDS*>(vectorDS[0])->getQ()(0);

DataPlot(k,2) = static_cast<LagrangianDS*>(vectorDS[0])->getVelocity()(0);

DataPlot(k,3) = (Follower->getNonSmoothDynamicalSystemPtr()->
getInteractionPtr(0)->getLambda(1))(0);

DataPlot(k,4) = static_cast<LagrangianDS*>(vectorDS[0])->getFExt()(0);

// State of the Cam
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double CamEqForce,CamPosition,CamVelocity,CamAcceleration;
CamEqForce=
CamState(k*t->getH(),rpm,CamPosition,CamVelocity,CamAcceleration);
// Position of the Cam
DataPlot(k, 5) = CamPosition;
// Velocity of the Cam
DataPlot(k, 6) = CamVelocity;
// Acceleration of the Cam
DataPlot(k, 7) =

CamPosition+static_cast<LagrangianDS*>(vectorDS[0])->getQ()(0);

// — Time loop —
cout « "Start computation ... " « endl;
while(k < N)

{

}

/ / — Get values to be plotted —
DataPlot(k,0) = k*t->getH();

DataPlot(k,1) =
static_cast<LagrangianDS*>(vectorDS[0])->getQ()(0);
DataPlot(k,2) =
static_cast<LagrangianDS*>(vectorDS[0])->getVelocity()(0);
DataPlot(k,3) =
(Follower->getNonSmoothDynamicalSystemPtr()->
getInteractionPtr(0)->getLambda(1))(0);
DataPlot(k,4) = static_cast<LagrangianDS*>(vectorDS[0])->getFExt()(0);

CamEqForce=
CamState(k*t->getH(),rpm,CamPosition,CamVelocity,CamAcceleration);

DataPlot(k, 5) = CamPosition;

DataPlot(k, 6) = CamVelocity;

DataPlot(k, 7) = CamPosition+
static_cast<LagrangianDS*>(vectorDS[0])->getQ()(0);

// transfer of state i+1 into state i and time incrementation

S->nextStep();

// get current time step

k = t->getK();

// solve ...

S->computeFreeState();

S->computeOneStepNSProblem();

// update

S->update();

// — Output files —
DataPlot.rawWrite("result.dat", "ascii");
// — Free memory —

delete osnspb;

delete vOSI[0];

delete t;

delete S;

delete Follower;

delete nsds;
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delete interactionVector[0];
delete relation;
delete nslaw;

delete H;

delete dsConcerned;
delete vectorDS[0];
delete position_0[0];
delete velocity_0[0];
delete C;

delete K;

delete Mass;

file DevNotes.tex - 2018-03-14 11:18



Siconos Development team - Notes 89/98

14.0.3 Simulation

We have perform the simulation of the cam follower system for different values of the cam rotational
speed with the SICONOS software package using a time-stepping numerical scheme with step size (h =
le ) and an event-driven scheme with minimum step size
(hpin = 1e712). Fig. 14.2 and 14.3 show the time simulations for different values of the cam rota-
tional speed and Fig. 14.4 show the chaotic attractor at rpm = 660 for impact and stroboscopic Poincare
sections.

(a) (b)

./comparison_figs/time_comparison_700-eps-converted-to.pdf

(c)

Figure 14.2: Time series using SICONOS platform. Time-stepping scheme (continuous line). Event-
driven scheme (dashed line) (a) rpm=358. (b) rpm=660. (c) rpm=700.
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./comparison_figs/state_comparis

on_358event-ef

(a)

s/compertedatfigdfstate_comparisjon_358siconos-eps-convert

./comparison_figs/state_comparis

(b)

on_700event /epmpaarisent dd gsd spdf e _comparision_700siconos-eps-converted-t

(c)

(d)

Figure 14.3: State space comparison using SICONOS platform. (a) rpm=358. Event Driven (b) rpm=358.

Time Stepping (h = Te=H)(c) rpm=700. Event Driven (d) rpm=700. Time Stepping (h = le™%)

{Fig:state_compa
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./comparison_figs/impact_map_660event-eps-convertedpbwipdfi_figs/impact_map_660siconos-eps-converted-to.

(a) (b)

./comparison_figs/stroboscopic_map_660event /epmparrisent €d gsd spdbboscopic_map_660siconos-eps-converted-t

(c) (d)

Figure 14.4: Attractors comparison using SICONOS platform at rpm=660. (a) Impact map. (Event
Driven) (b) Impact Map. Time Stepping (h = le *)(a) Stroboscopic map. (Event Driven) (b) Strobo-
scopic Map. Time Stepping (h = le™?) {Fig:attractor_c
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Chapter 15

Quartic Formulation

15.0.1 Slidding ?

T
0 0 O

M+1]1 0 « O R+g=0 (15.1)
0 0 «o

The first line of the system 15.1 and the R € 9K, is the intersection between a plan and a cone in R?,

endeed:
l]l\}FN =| Rr ||
le | Rt [|= —q1 — M12R71 — Mi3RTs

It consists in finding « > 0 and R € dK, such that —« ( % ) = MR +¢. Thatis:

15.0.1.a Ry is on a conic

(15.2)

That is: - ) )
u 5 = (Rfy + Rq)
M (15.3)
Hél (R%1 + R%;) = (—q1 — MiaRpy — MizRps)?

That means that Rt is contained in a conic, focus and directrice are:

D:q1+ Mp2Rr1 + MizRr2 =0
focus : O
M3, . 2 : 20212 2
2 Dist(O,Rt)” = Dist(D,Rr)"(Mi, + M73) (15.4)

Dist(0,Ry) _ 4y (Mo +Mi3)

Dist(D, RT) My

The parametric equation is:
Rr1 = rcos(6)
Ryy = rsin(g) (15.5)
T + ecos(0 — ¢)

With p an simple expression of Mj1, M13, M3, and ¢ a constant angle between D and (O, Rt1)
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15.0.1.b The two last line of the system 15.1

I Rr || g« 0 -
M is symetric, so it exists a unitary matrix V such that vmyvT = ( %1 ;2 ) . One can get:
R ~ .
”LLTHVM1,+V(M+< ‘6‘ 2>>VTVRT+V57:O (15.7)
Rename: | Re |
RT — d1 +a 0 - _

In the plan, either V is a rotation or a symetrie. So Ry = VRy is a conic with the same focus and a
rotated directrice, it means that it exists ¢ such that :

Ry = rcos(0)
Ryo = rsin(0)
0 (15.9)

"T 1+ ecos 0—¢1)
The equation 15.8 is : )
(di +o)Rr1 = —g1 + a1 || Rr ||

] 15.10
(d2+ )Ry = =2 +az || Ry || (15.10)

The case (RT; = 0 or Rrp = 0) has to be examine. We try to eliminate alpha:

d1R11Rr2 + aR1iRr2 = —q1Rr2 + a1Rra || Rr ||

. 15.11
dyR71R1y + aR11RT2 = —G2R71 + a2R71 || R || ( )

that leads to: o ) ) ) )
(d1 —d2)Rr1Rr2 = —q1R712 + @2R11 + (a1R12 — a2Rr1) || R || (15.12)

The parametric expression of Ry leads to:

(d1 — dp)r*cos(0)sin(0) = —qyrsin(0) + gorcos(0) + r(ayrsin(0) — azrcos(6))

ie:(dy — dp)rcos(0)sin(0) = —gysin(0) + gocos(6) + r(aysin(6) — acos(0)) (15.13)

with the expression of r:
(d1 — dy) b cos(0)sin () =

1+ ecos(0 — ¢1)
—q15in(0) + gacos(6) +

(aysin(0) — azcos(0))

1+ ecos(0 — ¢1)

ie:(d — dp)pcos(0)sin(0) =
(1+ecos(60 — ¢1))(—grsin(0) + Gacos(0)) + p(aysin(0) — azcos(6)) (15.14)

ie:(d; — dyp)pcos(0)sin(0) =
(14 e(cos(B)cos(pr) + sin(0)sin(p1)))(—grsin(0) + Gacos(0)) + p(aysin(6) — axcos(6))

ie:(dy — dp)pcos(0)sin(0)+
(14 ecos(0)cos(py1) + esin(0)sin(p1))(G15in(0) — Gacos(0)) + p(—aysin(0) + axcos(0)) = 0

rename :
Acos(0)? + Bsin(0)? + Csin(6)cos(6) 4+ Dsin () + Ecos(8) = 0 (15.15)
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with
A = —eqacos(¢1)
B = eqysin(¢1)

C = (d1 —dy)p + ecos(p1)qr — esin(d1)go (15.16) {eq_quartici12}
D= Ji1 — pm
E = —{g2 + pay

rename : Using the following set of unknown :

t = tan(6/2)
g = 2
sin(0) = 1+¢£2 (15.17) {eq_quartici4}
cos(0) = e
1442
leads to:
(1—12)? 4¢2 2t(1 — t2) )
A B D2t+E(1-t*) =0
142 + 1+t2JFC 1+ + +E( )
ie:A(1—t?)2 +4Bt* + C2t(1 — #*) + 2DtH1 + #*) + E(1 = t*)(1 + #*) = 0 (15.18) {eq_quartici3}

ie:P4:A—E P3:—2C+2D P2:4B—2A P1:2C+2D P0:A+E

Finally, we get 4 possible values for R, checking the sign of & and Ry selects the solutions.

15.0.1.c case Rp1» =0

From 15.10, R leads to: B
| Ry ||= |Rrz| = &

(15.19) {eq_quartici4}

From 15.10, R, leads to:

q (15.20) {eq_quartici4}

Ry = az

From Ry, we have to check the coherence with the equation 15.9. If it is on the conic, we compute R,
and the sign condition of the equation 15.1 must be check.
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Chapter 16

Alart—-Curnier Formulation

16.1 Reduced formulation to local variables.

16.1.1 Formulation

Let us start with N
CD1(u/ P) = _uk—H + WPk-H + Ufree

‘Dz(U, P) =P - Projmi (PN —Pn© (UN +eo uN,k)) (16.1) {eq:AC-L7}

@3(U,P) =P, — projﬁ(PN,uN)(PT —pro Uy)
where the modified friction disk for a contact « is

D* (P11, USa1) = D(u(projg, (PR 1 — o (Uyy +e¥U)). (162) foq:Ac-L3}

N, N, N,

16.1.2 Structure of the Jacobians

Let us denote the one element of the generalized Jacobian by H(U, P) € 0® (U, P) which has the struc-
ture

—I O WNN I;\\/NT
0 —1I Wi Wi
H(U,P) = (16.3) {eq:AC-L6}
du, P2(U, P) 0 dp, ©2(U, P) 0
[ U, @3(U, P) 3y, ®3(U,P) p,@3(U,P) 3p@3(U,P) ]

16.1.3 Computation of the gradients

Let us consider the single contact case.
Computation of the gradients of @,

qu(u/ P) = pN - prOj]R”l+ (PN - pN(UN + EUN,]()) (16 4) {eq'AC-Tl}

o If Py — pu(Uy +ely k) > 0, we get

O (U, P) = +pu(Uy + ely ) (16.5) {eq:AC-T2}
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and
aUN(DZ(uI P) = +pN

dp, @2 (U,P) =0

o If Py — pu(Uy +ely k) < 0, we get
@,(U,P) =Py

and
ou P2(U,P) =0

dp Do (U, P) =1

Computation of the gradients of @3

o3(U,P) =P, — projﬁ(PNluN) (P — p:Uy)

o If | P — p;Uy|| < pmax(0, Py — pu(Uy +ely k) , we get
(D3(u/ P) = +p.U;

and
du, @3(U,P) =0

35 D3(U, P) = 0
oy, @3(U, P) = +p;

ap,®3(U,P) =0

o If | P — p;Uy|| > pmax(0, Py — py(Uy +elyg)) , we get

P —p U
@3(U, P) = P — pmax(0, Py — pn(Uy + ellm))ﬁ
- If Py — pu(Uy +elUy ) < 0, we get
O3 (U,P) =P,
and
ou, @3(U,P)=0
dp,@3(U,P) =0
oy, P3(U,P) =0
dp,@3(U,P) =1,
— If Py — pu(Ux +elly k) > 0, we get
PT_ TuT
@ALLP)=1%4+43q*PN@A«+6UMO)W§ij%Ifﬂ

(16.6)

(16.7)

(16.8)

(16.9)

(16.10)

(16.11)

(16.12)

(16.13)

(16.14)

(16.15)
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and
3. (U, P) = ppy et ken i
uy@3(U, P) = umeWARNING case was not taken into account
T THAT
Py — p:U
s P) = R o T

(16.16) {eq:AC-TT8}
aUT@B(Ur P) = pp:(Py — pn(Ux + euN,k))r(PT — p:Ux)

op,@3(U, P) = I — p(Py — pu(Ux + ey k) )T(Pr — prUr)

16.1.4 Rearranging the cases
TO BE COMPLETED

16.2 Formulation with global variables.

16.2.1 Formulation

Let us start with .
W¥i(o, U, P) = =Mooy + HPey1 +9

‘Pllj(v, U,P) = —Ugq + HTka +b
(16.17) {eq:GAC-L1}
Yy (v, U, P) = Py — proj]Ri (Py—pno (Ux+eolyg))

Yi(o,U,P) =P, — projﬁ(PN,uN) (Py — pro Uy)
where the modified friction disk for a contact « is
DH(P{y i1, Ul k1) = D(u(projgr, (Pl — o8 (U kyr + e USL)))- (16.18) {eq:GAC-L2}

16.2.2 Structure of the Jacobians

Let us denote the one element of the generalized Jacobian by H(v, U, P) € d¥(s, U, P) which has the
structure

-M 0 0 Hy H,
H —1 0 0 0
H(v,U,P) = HTT 0 -1 0 0 (16.19) {eq:GAC-L3}
0 oJyVYa(v, U, P) 0 dp Y2 (v, U, P) 0
L 0 oy Ws(o,U,P) 9y Ws(v,U,P) dpWs(v,U,P) dpWs(v,U,P) |

We clearly have
au‘yz(v, U,P) = au(Dz(u,P)
dp¥a(v, U, P) = 0dp®2(U,P) o
duYs(v, U, P) = au®s(U,P) (16.20) {eq:equivalentJa
op¥s(v, U, P) = dp®@3(U,P)
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and we get
[ —M 0 0 Hy H, T
H/ —I 0 0 0
H(o,U,P)= | HS 0 —I 0 0 (16.21)
0 du,@2(U,P) 0 ap, ©o(U, P) 0
L 0 9y, D3(U,P) 3y, ®3(U,P) dp,D3(U,P) 9p O3(U,P) |

16.2.3 Simplification ?

Since the second line \Pl{ is linear, we should be able to derive a reduced Jacobian using the chain rule.

Let us define ¥ _
Y(v,P) =Y(v,H v+b,P) (16.22)

@1(0,13) = _kaﬂ +HP 1 +9q
T (0,P) = Py — proje (Pu — pu o (H 0+ by 0 Uyp) (1629

¥3(0,P) = Pr — projp, ) (Pr — pro (H 0+ b))

Chain rule _
0o¥23(v,P) = d¥a3(v, H'o+b, P)
(16.24)
= Hyou,D23(H v+b,P)+H 9y, ®3(H v+b,P)
| _M Hy H; 1
H 9y, ©2(H v +b,P) Ip,Do(H 0+b,P) 0
H(v,P) = N TEN ’ N ! (16.25)
Hl;rauNd)g(HTU—.—b,P) T T
dp, P3(H b,P) dp,®3(H b, P
+HTT3uTCD3(HTv+b,P) Py 3( v+ ) Pr 3( v+ ) ]
discussion

e Formulae has to be checked carefully
¢ 1 do not known if there an interest in the simplification. With sparse matrices, it is perhaps easier
to deal with (16.21)
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